

Crops

prioto by Eu Williams/3an Joaquin Co.

California field crops experienced less than ideal weather in 2005. Many crops were damaged by excessive amounts of rain in the spring and heat waves in the summer. Beans and hay experienced slight increases in value, whereas oats and wheat values were considerably lower than 2004.

California is the leading state in alfalfa hay production and consumption. In 2005, California produced 6.9 million tons of alfalfa hay, generating \$952.2 million, the highest value among all Golden State field crops. A series of storms brought heavy rains to California during the fall planting season. Some areas recorded record high March precipitation. Rainfall not only delayed planting and harvesting activities, but also potentially lowered alfalfa hay quality. Production dropped 6 percent from 2004, but the 17 percent price per ton increase made up the loss in production and pushed a 9.8 percent increase in production value. Other hay recorded a slight increase in yield and price, and values increased 11 percent to \$198.4 million.

Snowfall in the Sierra Nevada provided sufficient irrigation water for crops. However, heavy rains and below normal soil temperatures delayed cotton planting through early May. As warm and dry weather returned later in May, crop planting progressed more rapidly. By mid-June, crop condition was rated 53 percent good-to-

excellent, 45 percent fair, and only 2 percent rated poorly. Price of Upland cotton was \$0.60 per pound, up 16 percent from 2004, but 19 percent lower than 2003. Planted acreage significantly decreased 23 percent. The production decline caused the total value of Upland cotton to drop to \$306.7 million from \$443.3 million in 2004 and \$534.6 million in 2003. California growers planted 229,000 acres of American Pima cotton, up 15,000 from 2004. The price of American Pima cotton also increased 35 percent to \$1.19 per pound, generating \$318.7 million.

Rice is one of the major field crops in California with 528,000 acres planted in 2005. Medium-grain rice contributed about 90 percent of the total rice production and acreage. Rice planting was pushed back a week behind normal due to rainfall. Both long-grain and short-grain rice experienced lower yields, but slightly higher production. Medium-grain rice had 465,000 acres successfully planted. Along with a 14 percent decline in yield, medium-grain rice production decreased 26 percent to slightly less than 35,000 thousand hundredweight (cwt). Due to supply deficiencies, the overall price jumped 43 percent from 2004, pushing an increase in production value.



It was a good year for dry edible bean production. All major beans, except blackeye, leapt in production. Lima beans increased 29 percent from 2004. Chickpeas almost doubled its production. All dry beans generated \$56 million in value, up 32 percent from 2004, the second highest percentage increase among major field crops. Despite the good signs in 2005, there has been a declining trend in overall bean production.

Wheat production took a heavy hit from the unstable weather in 2005. A total of 570,000 acres was planted and 369,000 were harvested; both numbers are the lowest in the past 10 years. Overall, production declined 22 percent and value dropped 23 percent. Winter wheat declined in acreage and yield but increased in price, leaving total production value down 21 percent from 2004. Durum wheat production was down 27 percent to 196,650 tons. Price of durum wheat did not increase because of lower supply; on the contrary, it declined 8 percent. As a result, value was slashed 33 percent from 2004.

Sweet potatoes generated \$103.5 million of value, a 29 percent increase from 2004.

Notable Increases in Value:

Beans, All Dry Edible	32%
Corn for Silage	22%
Hay, All	
Potatoes, Sweet	
Rice, All	

Significant Decreases in Value:

Corn for Grain	25%
Cottonseed	37%
Oats	54%
Wheat, All	23%

		Field Crop Ac	reage, Production	on and Value, 199	6–2005		
Crop	Crop Year	Planted	Harvested	Yield Per Acre	Production	Value Per Unit	Total Value
BARLEY ¹		Acres	Acres	Tons	Tons	\$/Ton	\$1,000
	1996	250,000	190,000	1.44	273,600	153.75	42,066
	1997	230,000	150,000	1.37	205,200	114.58	23,513
	1998	170,000	125,000	1.44	180,000	97.08	17,475
	1999	140,000	100,000	1.54	153,600	97.50	14,976
	2000	130,000	95,000	1.63	155,040	98.75	15,310
	2001			1.27	139,920	98.33	13,759
		160,000	110,000				
	2002	130,000	75,000	1.70	127,800	103.75	13,259
	2003	100,000	58,000	1.54	89,088	115.42	10,282
	2004	110,000	75,000	1.44	108,000	110.42	11,925
	2005	100,000	60,000	1.51	90,720	109.58	9,941
DEANG DI ACKEVE DOV 23		Acres	Aaraa	Doundo	Court	¢/Cust	¢1 000
BEANS, BLACKEYE DRY ^{2,3}	1996	Acres 24,000	Acres 23,000	Pounds 2,220	<i>Cwt.</i> 511,000	\$/Cwt.	\$1,000
						_	_
	1997	30,000	29,000	2,400	695,000	_	_
	1998	33,000	31,000	1,840	570,000	-	_
	1999	39,500	38,500	2,010	775,000	-	-
	2000	15,300	15,300	2,160	330,000	-	_
	2001	12,000	12,000	2,420	290,000	_	_
	2002	12,600	12,400	2,520	313,000	_	_
	2003	16,500	16,100	2,450	395,000	_	_
	2004	10,500	10,300	2,490	256,000	_	_
	2005	9,000	8,900	2,210	197,000	_	_
		0,000	5,500	L, L 1 V	101,000		
BEANS, GARBANZO DRY ^{2,7}		Acres	Acres	Pounds	Cwt.	\$/Cwt.	\$1,000
	1996	25,000	23,000	1,530	352,000	-	-
	1997	9,000	9,000	1,670	150,000	_	_
	1998	5,000	5,000	1,600	80,000	_	_
	1999	16,500	16,500	1,730	285,000	_	_
	2000	24,500	23,500	1,460	343,000	_	_
	2001	29,000	27,000	1,270	342,000		
						_	_
	2002	18,500	18,000	1,600	288,000	_	_
	2003	9,700	9,400	900	85,000	_	_
	2004	6,100	5,800	1,980	115,000	_	_
	2005	10,000	9,700	2,370	230,000	_	_
BEANS, DARK RED KIDNEY	DRY 2,3	Acres	Acres	Pounds	Cwt.	\$/Cwt.	\$1,000
	1996	5,000	5,000	1,640	82,000	_	7.,000
	1997	5,000	5,000	1,800	90,000		
						_	_
	1998	5,500	5,500	850	47,000	_	_
	1999	3,500	3,500	1,310	46,000	-	_
	2000	6,000	6,000	1,370	82,000	_	_
	2001	2,500	2,500	1,600	40,000	-	-
	2002	2,500	2,500	1,640	41,000	_	_
	2003	900	900	1,780	16,000	_	_
	2004	1,200	1,100	1,820	20,000	_	_
	2005	1,200	1,200	1,830	22,000	_	_
		1,200	1,200	1,000	22,000		
BEANS, LIGHT RED KIDNE		Acres	Acres	Pounds	Cwt.	\$/Cwt.	\$1,000
	1996	10,000	10,000	1,870	187,000	-	_
	1997	10,000	10,000	1,980	198,000	-	_
	1998	9,500	8,500	1,380	117,000	_	_
	1999	8,000	8,000	1,510	121,000	_	_
	2000	11,000	11,000	1,480	163,000	_	_
	2001	6,200	6,200	1,450	90,000	_	_
				1, 4 JU 1,270		_	_
	2002	6,000	6,000	1,270	76,000	_	_
	2003	5,000	4,900	1,390	68,000	-	_
	2004	4,600	4,000	1,080	43,000	_	-
	2005	3,500	3,500	1,630	57,000	-	-
BEANS, BABY LIMA DRY ^{2,7}	3	Acres	Acres	Pounds	Cwt.	\$/Cwt.	\$1,000
ZEARO, DADT EIRIK DITT	1996	24,000	23,000	2,250	517,000	φ, σωι.	φ1,000
	1997	37,000	36,000	2,510	902,000	_	_
	1998			1,700	204,000	_	_
		13,000	12,000			_	_
	1999	27,000	26,000	2,380	620,000	-	_
	2000	24,500	23,500	2,310	542,000	_	_
	2001	12,200	11,500	2,040	235,000	-	-
	2002	21,500	21,000	2,390	501,000	-	_
	2003	14,500	14,100	2,300	325,000	_	_
	2003						
	2004	11,300	10,900	2,450	267,000	_	_

Cvan	Cuan Vaar	Diantod	Howested	Vield Day Asso	Duaduation	Volue Dev Unit	Total Value
Crop	Crop Year	Planted	Harvested	Yield Per Acre	Production	Value Per Unit	
BEANS, LARGE LIMA DRY ^{2,3}		Acres	Acres	Pounds	Cwt.	\$/Cwt.	\$1,000
	1996	21,000	20,000	1,970	394,000	_	_
	1997	30,000	29,000	2,480	718,000	-	_
	1998	26,000	25,000	1,250	312,000	-	_
	1999	25,000	24,000	1,800	433,000	-	_
	2000	20,500	19,500	2,240	437,000	_	_
	2001	14,800	14,500	2,250	326,000	-	_
	2002	19,000	18,200	1,840	334,000	_	_
	2003	19,600	19,000	1,940	369,000	_	_
	2004	15,100	14,600	2,100	307,000	_	_
	2004	15,100	15,000	2,350	352,000	_	_
		,	,	_,	,		
BEANS, PINK DRY ^{2,3}		Acres	Acres	Pounds	Cwt.	\$/Cwt.	\$1,000
	1996	8,000	8,000	1,560	125,000	-	_
	1997	4,000	4,000	1,550	62,000	-	_
	1998	5,500	5,500	1,070	59,000	_	_
	1999	2,000	2,000	1,150	23,000	-	_
	2000	700	700	860	6,000	_	_
	2001	_	_	_	_	_	_
	2002	_	_	_	_	_	_
	2002	900	900	1,000	9,000	_	_
						_	_
	2004	300	300	1,330	4,000	_	_
	2005	300	300	1,000	3,000	-	-
BEANS, OTHER DRY ^{2,3,4}		Acres	Acres	Pounds	Cwt.	\$/Cwt.	\$1,000
•	1996	11,000	11,000	1,430	157,000	_	. , , = =
	1997	6,000	6,000	1,920	115,000	_	_
	1998	7,500	7,500	1,270	95,000	_	_
	1999	10,000	10,000	1,180	118,000		
				1,100		_	_
	2000	8,000	8,000	1,430	114,000	_	_
	2001	9,800	9,800	1,460	143,000	_	_
	2002	10,200	9,200	2,020	186,000	-	_
	2003	7,500	7,300	1,030	75,000	_	_
	2004	8,000	7,700	1,390	107,000	-	_
	2005	8,700	8,500	1,350	115,000	_	-
BEANS, ALL DRY EDIBLE ⁴		Acres	Acres	Pounds	Cwt.	\$/Cwt.	\$1,000
DEANS, ALL DRI EDIBLE	1996		123,000	1,890	2,325,000	38.50	89,513
		128,000					
	1997	135,000	132,000	2,270	3,000,000	29.40	88,200
	1998	110,000	105,000	1,480	1,554,000	36.10	56,099
	1999	135,000	132,000	1,860	2,455,000	27.00	66,285
	2000	115,000	112,000	1,840	2,059,000	26.80	55,181
	2001	88,000	85,000	1,760	1,496,000	31.20	46,675
	2002	92,000	89,000	1,980	1,762,000	33.30	58,675
	2003	77,000	75,000	1,840	1,380,000	35.30	48,714
	2004	60,000	57,000	2,020	1,152,000	36.90	42,509
	2005	66,000	65,000	2,130	1,385,000	40.40	55,954
	2000	00,000	05,000	2,130	1,303,000	40.40	33,334
ORN FOR GRAIN ⁵		Acres	Acres	Tons	Tons	\$/Ton	\$1,000
	1996	500,000	220,000	4.48	985,600	120.36	118,624
	1997	585,000	265,000	4.76	1,261,400	108.93	137,403
	1998	600,000	245,000	4.48	1,097,600	95.00	104,272
	1999	525,000	185,000	4.76	880,600	89.29	78,625
	2000	540,000	205,000	4.76	975,800	87.14	85,034
	2000	480,000	160,000	4.76	761,600	87.50	66,640
	2001						
	2002	545,000	150,000	4.76	714,000	97.50	69,615
	2003	530,000	140,000	4.48	627,200	103.57	64,960
	2004	540,000	150,000	4.90	735,000	94.64	69,563
	2005	540,000	110,000	4.82	529,760	98.21	52,030
ORN FOR SILAGE 3		Acres	Acres	Tons	Tons	\$/Ton	\$1,000
	1996	_	275,000	25.00	6,875,000	21.78	149,738
	1997	_	315,000	26.00	8,190,000	21.04	172,318
	1998	_	350,000	25.00	8,750,000	20.09	175,788
		_					
	1999	_	335,000	26.00	8,710,000	18.30	159,393
	2000	_	330,000	26.00	8,580,000	17.09	161,390
	2001	_	315,000	26.00	8,190,000	21.75	178,133
	2002	-	390,000	26.00	10,140,000	21.91	222,167
	2003	_	385,000	26.00	10,010,000	21.70	217,217
	2004	_	385,000	26.00	10,010,000	24.31	243,343
	2005	_	425,000	26.00	11,050,000	26.85	296,693

Crop	Crop Year	Planted	Harvested	Yield Per Acre	Production	Value Per Unit	Total Value
	Crup rear						
COTTON, AMERICAN-PIMA ⁶	4000	Acres	Acres	Pounds 1 000	Bales	¢/Lb.	\$1,000
	1996	165,000	164,000	1,098	375,000	107.0	192,600
	1997	185,000	184,000	1,141	437,200	102.0	214,053
	1998	200,000	180,000	941	352,800	92.3	156,305
	1999	240,000	239,000	1,210	602,700	85.1	246,191
	2000	145,000	144,000	1,154	346,300	101.0	167,886
	2001	240,000	239,000	1,283	639,000	85.6	262,552
	2002	210,000	209,000	1,386	603,300	86.0	249,042
	2003	150,000	149,000	1,194	370,500	123.0	218,743
	2004	215,000	214,000	1,532	683,000	88.2	289,155
	2005	230,000	229,000	1,170	558,000	119.0	318,730
OTTON, UPLAND ⁶		Acres	Acres	Pounds	Bales	¢/Lb.	\$1,000
OTTON, OPLAND	1000						
	1996	1,000,000	995,000	1,153	2,390,000	76.5	877,608
	1997	880,000	875,000	1,202	2,191,000	73.2	769,830
	1998	650,000	620,000	887	1,146,000	67.8	372,954
	1999	610,000	605,000	1,254	1,580,000	56.2	426,221
	2000	775,000	770,000	1,378	2,210,000	52.0	551,616
	2001	630,000	625,000	1,359	1,770,000	41.6	353,434
	2002	480,000	477,000	1,469	1,460,000	57.3	401,558
	2003	550,000	545,000	1,317	1,495,000	74.5	534,612
	2004	560,000	557,000	1,543	1,790,000	51.6	443,347
	2005	430,000	428,000	1,194	1,065,000	60.0	306,720
OTTON, ALL ⁶		Aava-	Anna	Dounds	Dala-	4/1 L	¢4 000
UTTUN, ALL	4000	Acres	Acres	Pounds	Bales	¢/Lb.	\$1,000
	1996	1,165,000	1,159,000	1,145	2,765,000	80.6	1,070,208
	1997	1,065,000	1,059,000	1,191	2,628,200	78.0	983,883
	1998	850,000	800,000	899	1,498,800	73.6	529,259
	1999	850,000	844,000	1,241	2,182,700	64.2	672,412
	2000	920,000	914,000	1,342	2,556,300	58.6	719,502
	2001	870,000	864,000	1,338	2,409,000	53.3	615,986
	2002	690,000	686,000	1,444	2,063,300	65.7	650,600
	2003	700,000	694,000	1,290	1,865,500	84.1	753,355
							700,000
	2004 2005	775,000 660,000	771,000 657,000	1,540 1,186	2,473,000 1,623,000	61.7 80.3	732,502 625,450
•	2000			,			
OTTONSEED 3	1996	Acres	Acres	Tons	Tons 1,020,000	\$/Ton 176.00	\$1,000 179,520
		_	_	_			179,020
	1997	_	_	_	942,000	174.00	163,908
	1998	_	_	_	544,000	177.00	96,288
	1999	_	_	_	799,000	137.00	109,463
	2000	-	-	_	909,000	139.00	126,351
	2001	_	_	_	849,000	142.00	120,558
	2002	_	_	_	731,000	138.00	100,878
	2003	_	_	_	680,000	152.00	103,360
	2004				902,000	150.00	135,300
	2004	_	_	_	594,000	146.00	86,724
		_	_	_			
FORAGE, ALFALFA ^{3,7,8}	2005	Acres –	Acres 1,010,000	Tons 7.19	Tons 7,262,000	\$/Ton —	\$1,000 -
FORAGE, ALL ^{3,7,9}		Acres	Acres	Tons	Tons	\$/Ton	\$1,000
OTROL, ALL	2005	- -	1,715,000	6.01	10,308,000	φ/1011 —	φ1,000 -
IAY, ALFALFA ³		Acres	Acres	Tons	Tons	\$/Ton	\$1,000
	1996	_	940,000	7.00	6,580,000	110.00	723,800
	1997	_	950,000	7.20	6,840,000	119.00	813,960
	1998	_	1,050,000	6.60	6,930,000	98.00	679,140
	1999	_	1,050,000	6.90	7,245,000	90.00	652,050
	2000	_	1,020,000	7.00	7,140,000	92.00	656,880
	2000	_	1,010,000	7.00	7,070,000	119.00	841,330
	2002	_	1,160,000	6.90	8,004,000	98.00	784,390
	2003	_	1,090,000	7.00	7,630,000	93.00	709,590
	2004	_	1,050,000	7.00	7,350,000	118.00	867,300
	2005	_	1,000,000	6.90	6,900,000	136.00	938,400
IAY, OTHER ³	1006	Acres	Acres	Tons	Tons	\$/Ton	\$1,000
	1996	_	510,000	2.80	1,428,000	82.00	117,096
	1997	_	560,000	2.80	1,568,000	98.00	153,664
	1998	-	580,000	2.80	1,624,000	68.00	110,432
	1999	_	530,000	2.90	1,537,000	75.00	115,275
	2000		520,000	2.80	1,456,000	78.50	114,296

Crop	Crop Year	Planted	Harvested	Yield Per Acre	Production	Value Per Unit	Total Value
	Grup rear						
HAY, OTHER ³ (CONTINUED)	0004	Acres	Acres	Tons	Tons	\$/Ton	<i>\$1,000</i>
	2001	_	550,000	3.10	1,705,000	93.50	159,418
	2002	_	590,000	3.00	1,770,000	79.50	140,715
	2003 2004	_	530,000 550,000	3.50 3.40	1,855,000 1,870,000	77.00 95.50	142,835 178,585
	2004	_	550,000	3.40	2,035,000	99.50	202,483
	2003	_	330,000	5.70	2,033,000	99.50	202,403
HAY, ALL 3,10		Acres	Acres	Tons	Tons	\$/Ton	\$1,000
	1996	_	1,450,000	5.52	8,008,000	108.00	840,896
	1997	-	1,510,000	5.57	8,408,000	117.00	967,624
	1998	_	1,630,000	5.25	8,554,000	96.00	789,572
	1999	_	1,580,000	5.56	8,782,000	89.00	767,325
	2000	_	1,540,000	5.58	8,596,000	90.50	771,176
	2001	_	1,560,000	5.63	8,775,000	115.00	1,000,748
	2002	_	1,750,000	5.59	9,774,000	95.50	925,107
	2003	_	1,620,000	5.85	9,485,000	90.50	852,425
	2004	_	1,600,000	5.76	9,220,000	115.00	1,045,885
	2005	_	1,550,000	5.76	8,935,000	128.00	1,140,883
HAYLAGE AND GREENCHOP,	ALFALFA 3,7,11 2005	Acres –	Acres 95,000	Tons 7.70	Tons 732,000	\$/Ton —	\$1,000 -
	ALL 3,7,12		_	_		4.5	44 000
HAYLAGE AND GREENCHOP,	2005	Acres –	Acres 260,000	Tons 10.68	Tons 2,778,000	\$/Ton —	\$1,000 -
OATS ¹		Acres	Acres	Tons	Tons	\$/Ton	\$1,000
	1996	300,000	30,000	1.20	36,000	138.75	4,995
	1997	350,000	30,000	1.28	38,400	123.75	4,752
	1998	320,000	30,000	1.20	36,000	85.00	3,060
	1999	275,000	25,000	1.36	34,000	93.75	3,188
	2000	220,000	25,000	1.20	30,000	96.88	2,906
	2001	260,000	25,000	0.96	24,000	140.63	3,375
	2002 260,000 32,000	1.31	41,984	181.25	7,610		
	2003	260,000	35,000	1.28	44,800	125.00	5,600
	2004	240,000	25,000	1.36	34,000	125.00	4,250
	2005	270,000	20,000	1.20	24,000	81.25	1,950
POTATOES, WINTER		Acres	Acres	Cwt.	Cwt.	\$/Cwt.	\$1,000
	1996	5,700	5,700	250	1,425,000	21.10	30,068
	1997	6,600	6,600	235	1,551,000	18.10	28,073
	1998	7,000	7,000	220	1,540,000	22.40	34,496
	1999	8,500	8,500	260	2,210,000	22.60	49,946
	2000	9,000	9,000	320	2,880,000	17.00	48,960
	2001	9,000	9,000	310	2,790,000	19.70	54,963
	2002	9,000	9,000	270	2,430,000	24.00	58,320
	2003	8,500	8,500	310	2,635,000	26.70	70,355
	2004	13,000	13,000	250	3,250,000	22.70	73,775
	2005	14,000	14,000	250	3,500,000	19.10	66,850
20717050 0001110						40.	
POTATOES, SPRING	1996	Acres 20,100	Acres 20,100	Cwt. 375	Cwt. 7,538,000	\$/Cwt. 13.00	\$1,000 97,994
	1996	20,700	20,700	375	8,073,000	9.85	79,519
	1998	18,500	18,500	335	6,198,000	10.50	65,079
	1999	19,000	19,000	400	7,600,000	10.50	79,800
	2000	18,800	18,800	395	7,426,000	12.20	90,597
	2000	15,500	15,500	390	6,045,000	12.40	74,958
	2001	19,000	19,000	405	7,695,000	19.80	74,956 152,361
	2002	19,000	19,000	440	8,360,000	12.60	105,336
	2003	17,500	17,500	440 475	8,313,000	13.40	111,394
	2004	15,100	15,100	405	6,116,000	13.00	79,508
POTATOES, SUMMER		Acres	Acres	Cwt.	Cwt.	\$/Cwt.	\$1,000
	1996	5,800	5,800	360	2,088,000	14.60	30,485
	1997	5,900	5,900	360	2,124,000	14.50	30,798
	1998	6,200	6,100	355	2,166,000	11.90	25,775
	1999	6,700	6,700	360	2,412,000	12.80	30,874
	2000	7,500	7,500	355	2,663,000	18.10	48,200
	2001	8,000	8,000	355	2,840,000	15.40	43,736
	2002	7,300	7,300	360	2,628,000	19.10	50,195
	2003	7,500	7,200	385	2,772,000	16.40	45,461
	2004	7,000	7,000	350	2,450,000	14.50	35,525
	2005	6,200	6,200	355	2,201,000	14.40	31,694

Crop	Crop Year	Planted	Harvested	Yield Per Acre	Production	Value Per Unit	Total Value
POTATOES, FALL	<u> </u>	Acres	Acres	Cwt.	Cwt.	\$/Cwt.	\$1,000
OTATOLO, TALL	1996	11,500	11,500	400	4,600,000	4.80	22,080
	1997	10,500	10,500	400	4,200,000	8.10	34,020
						8.40	
	1998	10,300	10,300	360	3,708,000		31,147
	1999	9,000	9,000	445	4,005,000	7.35	29,437
	2000	8,700	8,700	430	3,741,000	5.80	21,698
	2001	3,400	3,400	445	1,513,000	8.25	12,482
	2002	8,300	8,300	520	4,316,000	8.45	36,470
	2003	8,300	8,300	425	3,528,000	9.20	32,458
	2004	7,600	7,600	480	3,648,000	7.95	29,002
	2005	7,600	7,600	435	3,306,000	7.35	24,299
OTATOES ALL		Aaraa	Aoroo	Cust	Cust	¢/Cust	¢1 000
OTATOES, ALL Excluding	1000	Acres	Acres	Cwt.	Cwt.	\$/Cwt.	\$1,000
	1996	43,100	43,100	363	15,651,000	11.70	180,627
SWEET)	1997	43,700	43,700	365	15,948,000	10.90	172,410
	1998	42,000	41,900	325	13,612,000	11.60	156,497
	1999	43,200	43,200	376	16,227,000	11.80	190,057
	2000	44,000	44,000	380	16,710,000	12.50	209,455
	2001	35,900	35,900	367	13,188,000	14.20	186,139
	2002	43,600	43,600	391	17,069,000	17.50	297,346
	2003	43,300	43,000	402	17,295,000	14.80	253,610
	2004	45,100	45,100	392	17,661,000	14.30	249,696
	2005	42,900	42,900	353	15,123,000	13.50	202,351
OTATOES, SWEET	1000	Acres	Acres	Cwt.	Cwt.	\$/Cwt.	\$1,000
	1996	9,600	9,600	225	2,160,000	26.10	56,376
	1997	9,700	9,700	205	1,989,000	28.00	55,692
	1998	9,700	9,700	220	2,134,000	25.80	55,057
	1999	10,000	10,000	240	2,400,000	28.80	69,120
	2000	10,500	10,500	250	2,625,000	24.10	63,263
	2001	10,000	10,000	230	2,300,000	26.90	61,870
	2002	10,400	10,400	280	2,912,000	23.10	67,267
	2003	10,700	10,700	300	3,210,000	25.20	80,892
	2004	11,500	11,500	280	3,220,000	25.00	80,500
	2005	11,700	11,700	300	3,510,000	29.50	103,545
2		_	_				
RICE, LONG ³	1000	Acres	Acres	Cwt.	Cwt.	\$/Cwt.	\$1,000
	1996	5,000	5,000	72.00	360,000	_	_
	1997	9,000	9,000	77.00	693,000	-	-
	1998	9,000	9,000	59.70	537,000	_	_
	1999	5,000	5,000	68.00	340,000	-	_
	2000	9,000	9,000	71.00	639,000	_	_
	2001	13,000	13,000	77.00	1,001,000	_	_
	2002	7,000	7,000	64.00	448.000		
						_	_
	2003	7,000	7,000	69.00	483,000	_	_
	2004	7,000	7,000	73.00	511,000	_	_
	2005	9,000	9,000	71.00	639,000	_	-
ICE, MEDIUM ³		Acres	Acres	Cwt.	Cwt.	\$/Cwt.	\$1,000
	1996	484,000	482,000	75.00	36,150,000	-	-
	1997	493,000	491,000	82.60	40,557,000	-	_
	1998	420,000	418,000	69.90	29,218,000	-	_
	1999	455,000	450,000	73.00	32,850,000	_	_
	2000	507,000	505,000	80.00	40,400,000	_	_
	2001	435,000	433,000	83.00	35,939,000	_	_
	2002	500,000	495,000	83.00	41,085,000	_	_
						_	_
	2003	460,000	458,000	78.40	35,907,000	_	_
	2004 2005	540,000 465,000	535,000 463,000	88.00 75.50	47,080,000 34,957,000	_	_
	2000						
RICE, SHORT ^{3,13}	1000	Acres	Acres	<i>Cwt.</i>	<i>Cwt.</i>	\$/Cwt.	\$1,000
	1996	13,000	13,000	73.00	949,000	_	_
	1997	16,000	16,000	81.00	1,296,000	-	_
	1998	31,000	31,000	52.60	1,631,000	-	_
	1999	50,000	50,000	70.00	3,500,000	_	_
	2000	34,000	34,000	73.00	2,482,000	_	_
	2001	25,000	25,000	62.00	1,550,000	_	_
	2002	26,000	26,000	56.00	1,456,000	_	_
	2002		42,000	63.00	2,646,000	_	_
		42,000				_	_
	2004 2005	48,000	48,000	66.00	3,168,000	_	_
		54,000	54,000	60.00	3,240,000		

	Fiel	d Crop Acreag	e, Production an	d Value, 1996–2	005 continued		
Crop	Crop Year	Planted	Harvested	Yield Per Acre	Production	Value Per Unit	Total Value
RICE, ALL 13,14		Acres	Acres	Cwt.	Cwt.	\$/Cwt.	\$1,000
	1996	502,000	500,000	74.90	37,459,000	7.91	296,301
	1997	518,000	516,000	82.50	42,546,000	7.95	338,241
	1998	460,000	458,000	68.50	31,386,000	9.19	288,437
	1999	510,000	505,000	72.70	36,690,000	6.97	255,729
	2000	550,000	548,000	79.40	43,521,000	4.99	217,170
	2000	473,000	471,000	81.70	38,490,000	5.28	203,227
	2002	533,000	528,000	81.40	42,989,000	6.32	271,690
	2003	509,000	507,000	77.00	39,036,000	10.40	405,974
	2004	595,000	590,000	86.00	50,759,000	7.34	372,571
	2005	528,000	526,000	73.80	38,836,000	10.50	407,778
SAFFLOWER 7		Acres	Acres	Pounds	Cwt.	\$/Cwt.	\$1,000
	2005	51,000	50,000	2,000	1,000,000	11.30	11,300
SORGHUM FOR GRAIN 5,15		Acres	Acres	Tons	Tons	\$/Ton	\$1,000
	2000	12,000	8,000	2.10	16,800	82.20	1,381
	2001	10,000	7,000	2.52	17,600	87.60	1,545
	2002	17,000	11,000	2.24	24,600	92.80	2,287
	2003	18,000	10,000	2.52	25,200	93.00	2,344
	2003	28,000	12,000	2.52	30,240	84.00	2,540
	2004	26,000		2.52	25,200	76.00	1,915
	2003	20,000	10,000	2.32	25,200	70.00	1,910
SORGHUM FOR SILAGE 3,15		Acres	Acres	Tons	Tons	\$/Ton	\$1,000
	2000	_	4,000	15.00	60,000	-	_
	2001	_	3,000	20.00	60,000	-	_
	2002	_	6,000	17.00	102,000	-	-
	2003	_	8,000	18.00	144,000	_	_
	2004	_	16,000	15.00	240,000	_	_
	2005	_	16,000	18.00	288,000	-	_
SUGAR BEETS ¹⁶		Acres	Acres	Tons	Tons	\$/Ton	\$1,000
OGANI DELIG	1996	84,000	82,000	29.50	2,419,000	43.00	104,017
	1997	101,000	99,000	30.00	2,970,000	40.60	120,582
	1998	101,000	99,000	27.50	2,723,000	39.80	108,375
	1999	110,000	108,000	32.00	3,456,000	36.80	127,181
	2000	98,000	92,500	34.00	3,145,000	30.40	95,608
	2001	46,600	44,700	35.70	1,596,000	33.40	53,306
	2002	50,200	49,500	39.60	1,960,000	39.40	77,224
	2003	50,800	50,100	39.10	1,959,000	39.50	77,381
	2004	49,100	48,900	40.80	1,995,000	37.90	75,611
	2005	44,400	44,100	38.90	1,715,000	37.90	64,999
WHEAT, WINTER ¹		Acres	Acres	Tons	Tons	\$/Ton	\$1,000
(EXCLUDING DURUM)	1996	640,000	550,000	2.07	1,138,500	163.33	185,955
(LAGEODING DONOM)							103,880
	1997	510,000	400,000	2.10	840,000	123.67	
	1998	500,000	380,000	1.80	684,000	98.67	67,488
	1999	500,000	370,000	2.34	865,800	91.67	79,365
	2000	535,000	390,000	2.10	819,000	89.00	72,891
	2001	530,000	380,000	2.10	798,000	97.67	77,938
	2002	530,000	300,000	2.28	684,000	115.67	79,116
	2003	740,000	410,000	1.83	750,300	114.00	85,534
	2004	560,000	320,000	2.55	816,000	118.00	96,228
	2005	495,000	300,000	2.16	648,000	120.33	77,976
WHEAT, DURUM		Acres	Acres	Tons	Tons	\$/Ton	\$1,000
WILLAI, DOIION	1996	140,000	138,000	3.00	414,000	171.33	70,932
	1997	145,000	144,000	2.85	410,400	142.67	58,550
	1998	180,000	175,000	2.70	472,500	127.67	60,323
	1999	90,000	85,000	3.15	267,800	123.33	33,023
	2000	100,000	97,000	3.00	291,000	106.33	30,943
	2001	85,000	81,000	3.15	255,200	128.97	32,914
	2002	95,000	90,000	3.00	270,000	132.00	35,640
	2003	130,000	115,000	3.00	345,000	150.33	51,865
	2003			2.70	270,000	145.67	39,330
	ZUU 4	120,000	100,000	Z./U	∠1U,UUU	140.0 <i>l</i>	ᲐᲧ,ᲙᲙ Ს
	2005	75,000	69,000	2.85	196,650	134.67	26,482

	Field	d Crop Acreage	e, Production an	d Value, 1996–20	05 continued		
Crop	Crop Year	Planted	Harvested	Yield Per Acre	Production	Value Per Unit	Total Value
WHEAT, ALL ¹	1996 1997 1998 1999 2000 2001 2002 2003 2004 2005	Acres 780,000 655,000 680,000 590,000 635,000 615,000 625,000 870,000 680,000 570,000	Acres 688,000 544,000 555,000 455,000 487,000 461,000 390,000 525,000 420,000 369,000	2.26 2.30 2.09 2.49 2.28 2.28 2.45 2.09 2.59 2.29	Tons 1,552,500 1,250,400 1,156,500 1,133,600 1,110,000 1,053,200 954,000 1,095,300 1,086,000 844,650	\$/Ton 165.47 127.33 100.67 94.67 94.00 103.67 120.33 118.00 126.67 124.67	\$1,000 256,887 162,430 127,811 112,388 103,834 110,852 114,756 137,399 135,618 104,458

 $^{^{1}\,\}mathrm{Area}$ planted includes preceding fall.

¹⁶ Relates to year of intended harvest for fall planted beets in central California and to year of planting for overwintered beets in central and Southern California.

		F	ield Cro	o Month	y Averag	ge Prices	Receive	d, 1996–	2005				
Crop	Crop Year	Jan.	Feb.	Mar.	April	May	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
BARLEY ¹							\$/Ton						
	1996	137.00	164.00	173.00	168.00	167.00	172.00	160.00	157.00	143.00	-	127.00	-
	1997	128.00	_	126.00	-	128.00	121.00	_	121.00	_	_	-	_
	1998	118.00	117.00	115.00	-	_	_	101.00	_	_	_	-	_
	1999	_	_	_	_	89.00	88.00	95.00	93.00	98.00	90.00	105.00	_
	2000	93.80	102.00	103.00	99.00	101.00	103.00	101.00	96.00	_	-	_	_
	2001	-	-	-	-	-	100.00	94.00	91.00	91.00	101.00	-	95.00
	2002	-	-	-	-	-	-	-	-	-	-	-	-
	2003	-	-	-	-	-	117.00	113.00	110.00	-	126.00	-	-
	2004	-	-	-	-	_	115.00	118.00	-	-	-	-	-
	2005	-	-	_	_	-	-	-	95.00	_	_	-	_
BEANS, DRY EDIBLE ¹							\$/Cwt.						
	1996	34.10	34.60	34.30	34.70	35.30	36.20	36.30	36.90	37.20	36.10	37.70	38.70
	1997	38.90	39.60	39.50	39.40	39.60	38.70	39.10	37.80	31.10	30.00	29.70	29.60
	1998	29.10	28.60	28.10	28.60	27.80	28.60	30.40	31.20	31.20	31.30	31.90	37.80
	1999	39.40	39.80	39.40	38.90	37.60	36.20	36.20	34.50	29.30	27.60	27.20	27.60
	2000	27.10	26.80	26.70	27.00	26.40	26.60	26.00	25.80	27.20	27.10	27.20	26.60
	2001	26.90	26.90	26.60	26.80	26.80	26.30	26.30	27.00	27.20	28.60	31.50	31.20
	2002	31.80	31.60	32.70	32.20	32.30	31.90	32.40	33.40	32.50	31.70	31.60	32.60
	2003	32.50	32.60	36.30	35.00	35.40	35.70	34.20	29.60	32.00	41.10	35.20	35.60
	2004	35.00	32.50	36.30	34.80	31.10	34.50	35.80	36.30	35.80	38.70	36.80	38.40
	2005	40.70	37.00	37.20	37.90	35.50	39.80	35.10	-	-	37.80	46.40	44.80
COTTON LINT, UPLAND	1						¢/Lb.						
	1996	84.70	83.80	85.20	86.30	80.60	82.10	80.00	77.00	77.60	75.60	77.00	77.50
	1997	76.60	77.60	77.40	73.70	75.50	74.50	74.30	68.40	_	76.90	74.70	69.70
	1998	73.40	71.30	71.30	68.60	71.50	77.50	-	71.80	68.80	69.70	73.70	73.30
	1999	68.40	58.50	56.50	56.40	-	55.20	49.70	51.40	-	55.20	52.90	58.20
	2000	-	57.90	-	-	58.70	-	-	-	66.10	64.90	69.00	68.20
	2001	57.80	57.40	_	39.60	39.70	36.50	37.10	_	47.90	_	35.10	53.30
	2002	39.40	-	_	-	-	-	-	_	-	51.80	55.60	_
	2003	_	58.40	59.10	_	_	_	_	_	68.60	78.20	76.10	75.00
	2004	69.60	72.60	70.30	68.20	_	_	_	_	-	-	53.50	51.50
	2005	51.10	49.80	-	-	51.70	_	_	_	54.60	60.60	57.30	67.90

² Production is on a clean basis.

³ Missing data has not been published due to the estimate being discontinued, not estimated, or not available.

 $^{^{\}rm 4}$ Includes varieties not listed separately. Excludes beans grown for garden seed.

⁵ Planted acreage is for all purposes.

⁶ Cotton bales are 480 lbs. net-weight.

⁷ Estimates began in 2005.

⁸ All alfalfa forage production is the sum of alfalfa harvested as dry hay and alfalfa haylage and greenchop production after converting it to a dry equivalent basis.

⁹ All forage production is the sum of the following dry equivalents: alfalfa hay and all other hay harvested as dry hay, alfalfa haylage and greenchop, all other hay haylage and greenchop; after converting alfalfa and all other haylage and greenchop to a dry equivalent basis.

 $^{^{10}}$ Estimated marketings of alfalfa and other hay used as weights to calculate all hay price for 1996–2005.

¹¹ Includes only alfalfa and alfalfa mixtures that were harvested as haylage or greenchop (green weight). Alfalfa harvested as dry hay is not included.

¹² Includes all types of forage harvested as haylage or greenchop (green weight). Forage harvested as dry hay and corn and sorghum silage/greenchop are not included.

 $^{^{\}rm 13}$ Sweet rice acreage has been included since the 2003 crop year, but not previous years.

¹⁴ Excludes wild rice.

 $^{^{15}\,\}mathrm{Estimates}$ began in 2000.

_										_			
Crop	Crop Year	Jan.	Feb.	Mar.	April	May	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
COTTONSEED 1,2							\$/Ton						
	1996	-	-	-	-	-	-	-	-	-	175.00	-	174.00
	1997	189.00	-	-	-	-	_	-	-	-	171.00	175.00	177.00
	1998	-	_	_	_	_	_	_	_	_	135.00	175.00	179.00
	1999	180.00	199.00	_	_	_	_	_	_	_	149.00	141.00	135.00
	2000	116.00	137.00	_	_	_	_	_	_	_	145.00	140.00	134.00
	2001	136.00	143.00	_	_	_	_	_	_	_	146.00	141.00	145.00
	2002	132.00	137.00	_	_	_	_	_	_	_	150.00	142.00	132.00
	2003	_	_	_	_	_	_	_	_	_	184.00	158.00	153.00
	2004	_	150.00	_	_	_	_	_	_	_	161.00	144.00	155.00
	2005	145.00	-	-	-	-	_	-	-	-	169.00	149.00	136.00
HAV ALFALFA (DALFD)							¢/Tan						
HAY, ALFALFA (BALED)	1000	100.00	10100	00.00	100.00	104.00	\$/Ton	100.00	101.00	100.00	111.00	110.00	110.0
	1996	100.00	104.00	98.00	108.00	104.00	104.00	100.00	101.00	106.00	111.00	112.00	118.00
	1997	126.00	133.00	127.00	132.00	131.00	125.00	117.00	113.00	113.00	121.00	125.00	119.00
	1998	120.00	121.00	115.00	130.00	107.00	102.00	99.00	99.00	93.00	96.00	89.00	79.00
	1999	79.00	102.00	109.00	101.00	104.00	97.00	87.00	81.00	78.00	85.00	85.00	86.0
	2000	85.00	94.00	99.00	96.00	91.00	81.00	76.00	81.00	89.00	97.00	97.00	97.0
	2001	102.00	103.00	111.00	130.00	121.00	114.00	111.00	113.00	125.00	123.00	128.00	124.00
	2002	113.00	122.00	126.00	121.00	116.00	101.00	95.00	90.00	92.00	98.00	101.00	95.00
	2003	99.00	102.00	99.00	99.00	97.00	90.00	85.00	86.00	88.00	94.00	98.00	89.00
	2004	89.00	97.00	105.00	126.00	122.00	115.00	109.00	109.00	113.00	119.00	122.00	119.00
	2005	121.00	131.00	133.00	141.00	144.00	134.00	134.00	131.00	135.00	139.00	142.00	138.00
HAV ALL (DALED)							A /T						
HAY, ALL (BALED)	1000	100.00	00.00	105.00	00.00	100.00	<i>\$/Ton</i>	00.00	100.00	104.00	110.00	110.00	117.0
	1996	103.00	96.00	105.00	99.00	102.00	103.00	98.00	100.00	104.00	110.00	110.00	117.00
	1997	124.00	132.00	126.00	128.00	128.00	122.00	115.00	111.00	113.00	110.00	123.00	118.00
	1998	118.00	120.00	113.00	129.00	103.00	100.00	99.00	97.00	91.00	92.00	86.00	79.00
	1999	76.00	100.00	103.00	98.00	103.00	96.00	85.00	82.00	78.00	84.00	82.00	83.00
	2000	83.00	88.00	98.00	96.00	90.00	81.00	77.00	81.00	87.00	93.00	95.00	94.00
	2001	100.00	100.00	110.00	128.00	116.00	112.00	108.00	110.00	121.00	117.00	117.00	115.00
	2002	111.00	119.00	123.00	119.00	115.00	98.00	92.00	88.00	89.00	94.00	95.00	94.0
	2003	98.00	100.00	99.00	98.00	94.00	88.00	84.00	85.00	86.00	90.00	93.00	85.0
	2004	88.00	95.00	103.00	121.00	118.00	112.00	108.00	107.00	110.00	115.00	117.00	114.0
	2005	116.00	125.00	127.00	135.00	136.00	128.00	130.00	126.00	130.00	132.00	135.00	131.0
POTATOES							\$/Cwt.						
	1996	12.20	12.00	14.00	13.90	11.20	13.10	13.10	11.00	14.90	11.20	9.80	7.9
	1997	8.45	8.65	9.90	11.40	8.10	9.95	10.20	13.50	14.70	13.80	8.20	13.4
	1998	11.00	12.30	17.20	15.30	10.90	10.30	9.90	10.90	12.00	10.70	10.50	8.8
	1999	16.70	16.30	12.90	20.20	7.35	11.50	11.30	12.30	16.50	7.95	10.40	12.9
	2000	12.10	11.90	12.20	14.00	10.80	11.10	14.60	17.40	16.80	8.00	10.80	14.6
	2001	15.60	16.00	7.35	6.90	12.10	11.10	12.60	16.00	15.10	11.00	12.70	17.0
	2001	17.20	19.70	15.30	25.00	24.10	18.40	18.80	18.80	20.50	9.95	15.80	18.2
	2002	18.40	15.80	16.20	19.90	14.60	11.40	12.90		14.70	9.95	12.40	14.3
	2003			21.10	21.00	14.60	12.40		17.10	15.00		8.65	
	2004	15.60 14.40	17.30 15.20	15.50	16.80	14.20	12.40	13.20 13.30	14.30 14.40	14.40	9.20 8.30	9.80	10.3 9.3
	2000		10.20	.0.00	.0.00	12.00	12.10	10.00			0.00	0.00	0.0
WHEAT, ALL ¹	1000	107.00	175.00	100.00	100.00	105.00	\$/Ton	100.00	100.00	150.00	147.00	144.00	140.0
	1996	167.00	175.00	188.00	188.00	185.00	179.00	160.00	160.00	159.00	147.00	144.00	140.0
	1997	161.00	146.00	151.00	145.00	140.00	134.00	-	-	124.00	131.00	_	
	1998	-	-	104.00	104.00	124.00	99.60	-	-	-	-	-	
	1999	96.70	100.00	98.70	104.00	93.00	-	-	-	106.00	-	_	
	2000	-	85.00	86.70	-	-	-	-	-	-	-	-	
	2001	_	-	_	-	_	_	_	-	_	_	_	
	2002	-	-	-	-	-	118.00	-	-	-	_	-	
	2003	_	_	_	_	_	125.00	113.00	115.00	113.00	111.00	118.00	120.0
	2004	_	122.00	_	131.00	133.00	139.00	125.00	_	_	107.00	_	
	2005	_	_	_	_	121.00	115.00	_	_	_	_	95.30	112.0

¹ Missing data was not published due to insufficient sales to establish a price or the price was not published to avoid possible disclosure.

² Season runs from August to February.

County		2(004			Production		
oouni,	Planted Acres	Harvested Acres	Yield/Acre Tons	Production <i>Tons</i>	Planted Acres	Harvested Acres	Yield/Acre Tons	Production Tons
Del Norte	_	_	_	_	_	_	-	_
Humboldt	-	-	_	-	_	-	_	-
Mendocino	_	_	_	_	_	_	_	-
District 10 Total Shasta	_	_	<u>-</u>	_	_	_		_
Siskiyou	12,400	7,600	1.97	15,000	7,600	5,400	2.25	12,168
Trinity	_	_	_	_	_	_	_	_
Other Counties 1	200 12,600	100	1.68	168	200	- E 400	_ 0.0E	10 160
District 20 Total Lassen	12,000	7,700 _	1.97	15,168 _	7,800	5,400 _	2.25	12,168
Modoc	7,000	3,900	2.50	9,744	4,500	1,400	2.55	3,576
Plumas	_	_	_	_	_	-	_	-
Other Counties ¹ District 30 Total	400 7,400	200 4,100	2.16 2.48	432 10,176	300 4,800	_ 1,400	2.55	3,576
Alameda	800	200	1.08	216	1,100	400	1.20	480
Contra Costa	_	_	-	-	-	_	-	-
Lake	-	_	_	_	400	_	_	-
Marin Mantaray	0.100	- 7 100	- 0.66	4 656	- 7 400	2 600	- 0.02	2 000
Monterey Napa	9,100 —	7,100 —	0.66	4,656 —	7,400	3,600	0.83	3,000
San Benito	1,600	800	0.63	504	1,600	800	0.90	720
San Francisco		-	-	-	_	_	-	_
San Luis Obispo	20,300	12,700	0.74	9,456	18,600	16,200	0.97	15,792
San Mateo Santa Clara	_	_	_	_	400	_	_	_
Santa Ciara Santa Cruz	_	_	_	_	400	_	_	_
Sonoma	_	_	_	_	_	_	_	_
Other Counties ¹	300	100	1.20	120	200	_	_	-
District 40 Total	32,100	20,900	0.72	14,952	29,700	21,000	0.95	19,992
Butte Colusa	- 500	400	1.80	- 720	_	_	_	_
Glenn	7,500	6,600	1.80	11,904	5,800	3,200	2.06	6,600
Sacramento	1,700	1,500	1.57	2,352	2,200	1,400	2.06	2,880
Solano	6,800	6,200	1.09	6,768	3,200	2,600	1.24	3,216
Sutter	900	- 800	-	888	1 200	1 000	- 0.01	912
Tehama Yolo	1,400	1,300	1.11 1.42	1,848	1,300 1,300	1,000 800	0.91 1.71	1,368
Yuba	-	-	-	-	-	_	-	- 1,000
Other Counties ¹	300	_		_	400	_	_	-
District 50 Total	19,100	16,800	1.46	24,480	14,200	9,000	1.66 1.96	14,976
-resno Kern	8,900 6,700	6,700 3,900	1.93 1.45	12,912 5,640	15,000 5,600	8,000 3,300	1.49	15,648 4,920
Kings	4,800	3,900	1.96	7,632	3,200	2,000	1.86	3,720
Madera	2,900	2,400	2.00	4,800	3,200	1,000	2.04	2,040
Merced	4,400	3,800	1.77	6,744	4,800	3,800	1.79	6,792
San Joaquin Stanislaus	1,300 500	900 300	1.49 1.12	1,344 336	1,400 900	800 400	1.77 2.04	1,416 816
Tulare	1,700	1,200	1.02	1,224	2,400	1,400	1.61	2,256
District 51 Total	31,200	23,100	1.76	40,632	36,500	20,700	1.82	37,608
Alpine	_	_	_	-	_	_	_	-
Amador Calaveras		_	_	_	_	_	_	_
Salavelas El Dorado	_	_	_	_	_	_	_	_
nyo	_		_	-	_	_	_	-
Mariposa	_	_	_	-	_	_	_	-
Mono Nevada	_	_	_	_	_	_	_	_
vevaua Placer	_	_	_	_	_	_	_	_
Sierra	_	_	_	_	_	_	_	-
Tuolumne	-		_	-	-	_	_	-
District 60 Total	- -	_	_	-	_	-	_	_
mperial _os Angeles	2,700	1,100	1.07	- 1,176	2,000	900	0.85	768
Orange		, –	_		_	_	-	-
Riverside	3,500	1,000	0.98	984	1,800	1,000	0.84	840
San Bernardino	_	_	_	-	1,000	200	2.04	408
San Diego Santa Barbara	900	200	- 1.44	288	1,000 700	200	1.08	216
Ventura	900	200	1. 44 –	200	-	_	-	- 210
Other Counties ¹	500	100	1.44	144	500	200	0.84	168
District 80 Total	7,600	2,400	1.08	2,592	7,000	2,500	0.96	2,400
STATE	110,000	75,000	1.44	108,000	100,000	60,000	1.51	90,720

 $^{^{\}rm 1}$ Includes one or more counties within a district that normally has less than 200 acres planted.

	Dry Edible Bean Acreage, Yield and Production by County, 2004–2005 2004——————————————————————————————————									
County	Planted Acres	Harvested Acres	Yield/Acre Pounds	Production Cwt.	Planted Acres	Harvested Acres	Yield/Acre Pounds	Production Cwt.		
Del Norte	_	_	_	_	_	_	_	_		
Humboldt	_	_	_	_	_	_	_	_		
Mendocino	_	_	_	_	_	_	_	_		
District 10 Total	_	_	-	-	_	_	_	_		
Shasta	_	_	_	_	_	_	_	-		
Siskiyou	_	_	_	_	_	_	_	_		
rinity	_	_	_	_	_	_	_	-		
District 20 Total	-	-	-	-	_	-	-	-		
assen	_	_	_	_	_	_	_	-		
Modoc	_	_	_	-	_	_	_	-		
lumas	_	_	_	-	_	_	_	-		
istrict 30 Total	-	-	-	-	-	-	-	-		
lameda	_	_	_	-	_	_	_	-		
Contra Costa	_	_	_	-	_	_	_	-		
ake	_	_	_	-	_	_	_	-		
Marin	_	_	_	-	_	_	_	-		
Nonterey	-	-	_	-	1,200	1,200	3,500	42,00		
apa	_	_	_	-	_	_	_			
an Benito	-	-	_	-	-	-	_			
an Francisco	_	_	_		-	-	_			
an Luis Obispo	300	300	1,667	5,000	_	_	_			
an Mateo	_	_	_	_	_	_	_			
anta Clara	_	_	_	_	_	_	_			
anta Cruz	_	_	_	_	_	_	_			
onoma	_	_	_	_	_	_	_			
Other Counties ¹	600	600	1,500	9,000	300	300	1,333	4,00		
District 40 Total	900	900	1,556	14,000	1,500	1,500	3,067	46,00		
utte	600	600	2,000	12,000	800	800	2,250	18,00		
olusa	5,600	5,300	1,755	93,000	5,900	5,800	1,759	102,00		
lenn	3,800	3,600	1,778	64,000	2,900	2,900	1,862	54,00		
acramento	_				400	400	2,000	8,00		
olano	3,700	3,500	2,029	71,000	3,500	3,400	2,029	69,00		
utter	7,300	7,000	1,743	122,000	7,000	6,900	1,986	137,00		
ehama	700	700	1,571	11,000	500	500	2,000	10,00		
olo	2,200	2,000	1,800	36,000	2,300	2,200	1,727	38,00		
uba	_	_	-	-	_	_	-			
ther Counties ¹	600	600	1,500	9,000	200	200	2,000	4,00		
istrict 50 Total	24,500	23,300	1,794	418,000	23,500	23,100	1,905	440,00		
resno	2,800	2,700	2,111	57,000	7,400	7,300	2,233	163,00		
ern	1,400	1,400	2,500	35,000	2,700	2,700	2,037	55,00		
ings 4 a da sa	3,700	3,400	1,353	46,000	2,600	2,600	2,885	75,00		
Madera Marand	500	500	2,600	13,000	400	400	1,750	7,00		
Merced	2,200	2,000	2,100	42,000	2,600	2,600	1,923	50,00		
an Joaquin	7,800	7,400	2,270	168,000	6,400	6,300	2,302	145,00		
tanislaus	8,200	7,800	2,615	204,000	11,100	10,900	2,303	251,00		
ulare	5,000	4,800	2,521	121,000	2,400	2,300	2,217	51,00		
istrict 51 Total	31,600	30,000	2,287	686,000	35,600	35,100	2,271	797,00		
lpine mader	_	_	_	_	_	_	_			
mador	_	_	_	_	_	_	_			
alaveras	_	_	_	_	_	_	_			
l Dorado	_	_	_	_	_	_	_			
y0 Jaringsa	_	_	_	_	_	_	_			
lariposa Iono	_	_	_	_	_	_	_			
lono avada	_	_	_	_	_	_	_			
levada lacer	_	_	_	_	_	_	_			
	_	_	_	_	_	_	_			
ierra	_	_	_	_	_	_	_			
uolumne Pistrict 60 Total	_	_	_	_	_	_	_			
	_	_	_	_	_	_	_			
nperial	_	_	_	_	_	_	_			
os Angeles	- 000	700	1 400	10.000	1 200	1 200	0.615	24.00		
range	800	700	1,429	10,000	1,300	1,300	2,615	34,00		
iverside an Bernardino	_	_	_	_	_	_	_			
		_	_	_	_	_	_			
an Diego anta Barbara	2,100	2 000	- 1,150	23,000	2 000	2 900	1,658	62.00		
entura	2,100	2,000	1,150	۷۵,000	3,900	3,800	1,000	63,00		
entura Other Counties ¹				1 000	200	200		5.00		
District 80 Total	100 3,000	100 2,800	1,000 1,214	1,000 34,000	200 5,400	200 5,300	2,500 1 025	5,000 102,00 0		
							1,925			
STATE	60,000	57,000	2,020	1,152,000	66,000	65,000	2,130	1,385,000		

 $^{^{1}}$ Includes one or more counties within a district that normally has less than 200 acres planted.

ountu			04		y County, 200	200	15	
ounty	Planted ¹ Acres	Harvested Acres	Yield/Acre Tons	Production <i>Tons</i>	Planted ¹ Acres	Harvested Acres	Yield/Acre Tons	Production Tons
Del Norte	1,000	200	- 222	_ 700	- 900	-	-	-
Humboldt Mendocino	1,000	300	2.33	700	800	_	_	_
District 10 Total	1,000	300	2.33	700	800	_	_	-
Shasta	-	_	_	_	_	_	_	-
Siskiyou	-	_	-	_	_	_	-	-
rinity District 20 Total	_	_	_	_	_	_	_	_
assen	_	_	_	_	_	_	_	_
Modoc	_	_	_	_	_	_	_	-
Plumas	_	_	_	_	_	_	_	-
District 30 Total Alameda	-	_	_	_	_	_	_	-
Contra Costa	6,000	5,700	4.22	24,080	5,300	4,900	4.10	20,076
_ake	-	-	-	-	-	-	-	
<i>M</i> arin	-	_	_	_	_	_	_	-
Monterey	_	_	_	-	_	_	_	-
lapa an Benito	_	_	_	_	_	_	_	-
San Francisco	_	_	_	_	_	_	_	-
San Luis Obispo	_	_	_	_	_	_	_	_
San Mateo	-	_	-	-	_	_	_	-
Santa Clara	_	_	_	-	-	-	_	-
Santa Cruz	_	_	_	_	_	_	_	-
Sonoma Other Counties ²	500	500	3.92	1,960	_	_	_	
District 40 Total	6,500	6,200	4.20	26,040	5,300	4,900	4.10	20,070
utte	800	800	5.95	4,760	500	200	5.88	1,17
olusa	3,000	3,000	6.02	18,060	1,500	1,400	5.20	7,28
lenn	16,400	12,000	5.70	68,432	12,000	6,700	5.93	39,73
acramento	32,500 11,400	29,000 10,400	4.45 5.41	128,912 56,308	35,000 5,000	28,000 4,500	4.41 5.12	123,56 23,01
olano utter	6,400	6,200	5.85	36,260	3,000	2,900	5.12	14,84
ehama	1,500	800	5.92	4,732	1,400	1,100	5.27	5,79
olo	12,000	12,000	5.24	62,860	3,900	3,600	4.98	17,92
'uba	1,000	800	5.50	4,396	1,000	300	5.23	1,56
District 50 Total	85,000	75,000	5.13	384,720	63,300	48,700	4.82	234,892
resno Gern	31,500 37,000	3,500 300	5.50 5.13	19,236 1,540	33,000 35,000	3,800	4.84	18,39
ings	49,500	3,300	5.16	17,024	61,300	2,900	5.07	14,70
// Madera	20,000	2,500	4.80	12,012	21,000	1,100	4.84	5,320
Merced	76,000	10,000	4.84	48,412	77,000	7,800	4.83	37,68
San Joaquin	68,000	44,000	4.54	199,920	64,000	34,000	4.80	163,21
tanislaus ulare	51,000 109,000	1,000 2,400	4.76 5.62	4,760 13,496	53,000 120,000	2,300 3,900	5.33 5.17	12,264 20,160
District 51 Total	442,000	67,000	4.72	316,400	464,300	55,800	4.87	271,74
lpine	_	_	_	_	_	_	_	· .
mador	-	-	-	-	_	-	-	
alaveras	_	_	_	-	_	_	_	
Dorado Iyo	_	_	_	_	_	_	_	
lariposa	_	_	_	_	_	_	_	
lono .	-	_	_	-	_	_	_	
levada	_	_	_	-	_	_	_	
lacer	_	_	_	_	500	_	_	
lierra uolumne	_	_	_	_	_	_	_	
District 60 Total	_	_	_	_	500	_	_	-
nperial	500	300	4.57	1,372	1,200	300	5.41	1,62
os Angeles	_	_	_	_	_	_	_	
range	1.500	_	_	_	1 700	_	_	
iverside an Bernardino	1,500 800	_	_	_	1,700 900	_	_	-
an Diego	_	_	_	_	900	_	_	
anta Barbara	-	_	_	-	500	_	_	-
entura	-				-	-	_	-
Other Counties 2	700 2 500	200	5.04	1,008	4 200	-	- E /1	4.00
District 80 Total	3,500 2,000	500 1,000	4.76 4.76	2,380 4,760	4,300 1,500	300 300	5.41 4.76	1,62 4 1,428
Other Districts ³								

Includes corn planted for all purposes.
 Includes one or more counties within a district that normally has less than 200 acres planted.
 Includes counties from one or more districts that normally have less than 200 acres planted.

ounty		20	04			20	05 ———	
,	Planted ¹ Acres	Harvested Acres	Yield/Acre Tons	Production <i>Tons</i>	Planted ¹ Acres	Harvested Acres	Yield/Acre Tons	Production Tons
Del Norte	- 1,000	_ 700	- 01.40	45.000	-	_	- 10.75	15.00
Humboldt Mendocino	1,000	700	21.40	15,000	800	800	18.75	15,00
District 10 Total	1,000	700	21.40	15,000	800	800	18.75	15,00
Shasta	_	-	_	_	-	_	_	
Siskiyou	_	_	_	_	_	_	_	
rinity District 20 Total	_	_	_	_	_	_	_	
.assen	_	_	_	_	_	_	_	
Modoc	_	_	_	_	_	_	_	
Plumas Dietriet 20 Tetal	_	_	_	_	_	_	_	
District 30 Total Alameda	_	_	_	_	_	-	_	
Contra Costa	6,000	300	20.00	6,000	5,300	400	17.50	7,00
.ake	, <u> </u>	_	_	_	_	_	_	,
Marin	-	_	_	_	_	_	_	
Monterey Napa			_		_		_	
Napa San Benito	_	_	_	_	_	_	_	
an Francisco	_	_	_	_	_	_	_	
an Luis Obispo	_	-	_	_	_	-	-	
an Mateo anta Clara	_	_	_	_	_	-	_	
anta Cruz	_	_	_	_	_	_	_	
Sonoma	_	_	_	_	_	_	_	
Other Counties ²	500							
District 40 Total	6,500	300	20.00	6,000	5,300	400	17.50	7,0
utte olusa	800 3,000	_	_	_	500 1,500	300	23.33	7,0
lenn	16,400	3,900	25.10	98,000	12,000	4,700	27.02	127,0
acramento	32,500	3,400	25.00	85,000	35,000	6,900	25.36	175,0
olano	11,400	600	25.00	15,000	5,000	500	22.00	11,0
utter ehama	6,400 1,500	200 700	25.00 30.00	5,000 21,000	3,000 1,400	300	26.67	8,0
olo 'olo	12,000	700	-	21,000	3,900	300	30.00	9,0
uba	1,000	200	30.00	6,000	1,000	700	28.57	20,0
District 50 Total	85,000	9,000	25.60	230,000	63,300	13,800	26.01	359,0
resno ern	31,500 37,000	27,500 36,700	24.50 24.30	674,000 893,000	33,000 35,000	28,700 35,000	24.63 22.77	707,0 797,0
ings	49,500	46,000	25.30	1,163,000	61,300	58,000	25.66	1,488,0
Madera	20,000	17,500	26.10	456,000	21,000	19,900	25.88	515,0
Merced .	76,000	64,500	25.90	1,669,000	77,000	67,800	25.37	1,720,0
an Joaquin tanislaus	68,000 51,000	22,800 49,500	27.10 27.80	617,000 1,375,000	64,000 53,000	29,000 50,300	27.59 27.79	800,0 1,398,0
ulare	109,000	106,500	26.50	2,818,000	120,000	115,800	26.94	3,120,0
District 51 Total	442,000	371,000	26.10	9,665,000	464,300	404,500	26.07	10,545,0
lpine .	_	-	_	_	-	_	-	
mador alaveras	_	_	_	_	_	_	_	
alavelas Dorado		_	_	_	_	_	_	
y0	_	_	_	_	_	_	_	
lariposa	-	_	_	_	_	_	_	
Mono Jovada	_	_	_	_	_	_	_	
levada 'lacer	_	_	_	_	500	400	25.00	10,0
ierra	_	_	_	_	-	-	_	10,0
uolumne	_	_	_	_				
District 60 Total	_ 500	200	20.00	4,000	500 1,200	400 900	25.00 21.11	10,0 19,0
nperial os Angeles	J00 —	200	20.00	4,000	1,200	900	21.11	19,0
os ringeles Irange	_	_	_	_	_	_	_	
iverside	1,500	1,500	24.70	37,000	1,700	1,700	21.76	37,0
an Bernardino	800	800	21.30	17,000	900	900	21.11	19,0
an Diego anta Barbara	_	_	_	_	500	400	20.00	8,0
entura	_	_	_	_	_	-	20.00	0,0
	700	500	20.00	10,000	_	_	_	
					_	_		
Other Counties ² District 80 Total Other Districts ³	3,500 2,000	3,000 1,000	22.70 26.00	68,000 26,000	4,300 1,500	3,900 1,200	21.28 25.83	83,0 31,0

 $^{^{1}}$ Includes corn planted for all purposes.

 $^{^{2}}$ Includes one or more counties within a district that normally has less than 200 acres planted.

 $^{^{3}}$ Includes counties from one or more districts that normally have less than 200 acres planted.

	American	Pima Cotton A		ana i rodacti	on by county	, 2004 2003		
County	Planted Acres	Harvested Acres	O4 ————————————————————————————————————	Production Bales	Planted Acres	Harvested Acres	O5 ————————————————————————————————————	Production Bales
Del Norte	_	_	_	_	_	_	_	
Humboldt	_	_	-	-	_	-	-	-
Mendocino	_	_	_	_	_	_	_	-
District 10 Total	-	-	-	-	-	_	_	-
Shasta	_	_	_	_	_	_	_	-
iskiyou	_	_	_	_	_	_	_	-
rinity	_	_	_	_	_	_	_	-
District 20 Total assen	_	_	_	_	_	-	_	
assen Modoc	_	_	_	_	_	_	_	
lumas	_	_	_	_	_	_	_	
District 30 Total	_	_	_	_	_	_	_	
lameda	_	_	_	_	_	_	_	
ontra Costa	_	_	_	_	_	_	_	
ake	_	_	_	_	_	_	_	
larin	_	_	_	_	_	_	_	
Ionterey	_	_	_	_	_	_	_	
apa	_	_	_	_	_	_	_	
an Benito	_	_	_	_	_	_	_	
an Francisco	_	_	_	_	_	_	_	
an Luis Obispo	_	_	_	_	_	_	_	
an Mateo	-	_	-	-	_	_	_	
anta Clara	_	_	_	_	_	_	_	
anta Cruz	_	_	-	_	-	_	_	
onoma	-	_	-	_	_	_	_	
istrict 40 Total	-	-	-	-	-	-	-	
utte	_	_	_	_	_	_	_	
olusa	_	_	-	_	_	_	_	
lenn .	_	_	_	_	_	_	_	
acramento	_	_	_	_	_	_	_	
olano	_	_	_	_	_	_	_	
utter	_	_	_	_	_	_	_	
ehama olo	_	_	_	_	_	_	_	
uba	_	_	_	_	_	_	_	
District 50 Total	_	_	_	_	_	_	_	
resno	82,900	82,500	1,543	265,200	88,300	88,000	1,222	224,000
ern	40,600	40,400	1,536	129,300	40,200	40,000	1,183	98,60
ings	88,400	88,000	1,530	280,500	94,500	94,000	1,113	218,000
Madera	-	_	_		_	_	_	,
1erced	1,500	1,500	1,216	3,800	1,500	1,500	1,120	3,50
an Joaquin	_	· –	, –	· –	· –	· –	,	
tanislaus	_	_	_	_	_	_	_	
ulare	1,000	1,000	1,296	2,700	4,600	4,600	1,252	12,00
ther Counties ¹	600	600	1,200	1,500	900	900	1,013	1,90
istrict 51 Total	215,000	214,000	1,532	683,000	230,000	229,000	1,170	558,000
lpine .	_	_	_	_	_	_	_	
mador	-	-	-	-	_	_	_	-
alaveras	_	_	_	_	_	_	_	
Dorado	_	_	_	_	_	_	_	
ly0	_	_	_	_	_	_	_	
lariposa Jana	_	_	_	_	_	_	_	
lono ovada	_	_	_	_	_	_	_	
evada Iacer	_	_	_	_	_	_	_	
iacer ierra	_	_	_	_	_	_	_	
ierra Jolumne		_	_	_	_	_	_	
istrict 60 Total	_	_	_	_	_	_	_	
nperial	_	_	_	_	_	_	_	
os Angeles	_	_	_	_	_	_	_	
range	_	_	_	_	_	_	_	
iverside	_	_	_	_	_	_	_	
an Bernardino	_	_	_	_	_	_	_	
an Diego	_	_	_	_	_	_	_	-
anta Barbara	_	_	_	_	_	_	_	-
'entura	_	_	-	_	_	_	-	-
District 80 Total	_	_	_	_	_			-
וואנוונו טט וטומו	_	_	_	_	_	_	_	

 $^{^{\}rm 1}\,{\rm lncludes}$ one or more counties within a district that normally has less than 500 acres planted

	— Оріа			nd Production	by County, 2		0E	
county	Planted Acres	Harvested Acres	Yield/Acre Pounds	Production <i>Bales</i>	Planted Acres	Harvested Acres	Yield/Acre Pounds	Production <i>Bales</i>
Del Norte	_	_	_	_	_	_	_	_
Humboldt	_	_	_	_	-	_	_	-
Mendocino	_	_	_	_	_	_	_	-
District 10 Total	_	_	-	-	-	_	-	-
Shasta Siskiyou	_	_	_	_	_	_	_	
Frinity	_	_	_	_	_	_	_	_
District 20 Total	_	_	_	_	_	_	_	-
_assen	_	_	-	_	_	_	-	-
Modoc	-	_	_	_	_	_	_	-
Plumas	_	_	_	_	_	_	_	
District 30 Total Alameda	-	_	_	-	-	_	_	
Contra Costa	_	_	_	_	_	_	_	
_ake	_	_	_	_	_	_	_	
Marin	_	_	_	_	_	_	_	
Monterey	_	_	-	-	-	-	-	
lapa	_	_	-	_	-	_	_	
an Benito	_	_	_	_	_	_	_	
San Francisco	_	_	_	_	_	_	_	
an Luis Obispo an Mateo	_	_	_	_	_	_	_	
san Mateo Santa Clara	_	_	_	_	_	_	_	
Santa Cruz	_	_	_	_	_	_	_	
Sonoma	_	_	_	_	_	_	_	
District 40 Total	_	_	_	_	_	_	_	
utte	_	_	-	_	_	_	-	
olusa	4,600	4,500	1,397	13,100	3,200	3,200	1,125	7,50
lenn	2,300	2,200	1,484	6,800	2,700	2,700	1,156	6,50
acramento olano	_	_	_	_	_	_	_	
utter	1,100	1,100	- 1,178	2,700	1,100	1,100	1,309	3,00
ehama	1,100	1,100	1,170	2,700	1,100	1,100	1,505	3,00
olo	_	_	_	_	_	_	_	
'uba	_	_	_	_	_	_	_	
District 50 Total	8,000	7,800	1,391	22,600	7,000	7,000	1,166	17,00
resno	165,000	164,400	1,588	544,000	117,000	116,500	1,178	286,00
Gern Gingo	99,300	98,900	1,504	309,800	84,000	83,600	1,166	203,00
Kings Madera	99,500 18,100	99,100 17,600	1,436 1,402	296,500 51,400	70,300 16,500	70,000 16,400	1,149 1,156	167,50 39,50
lauera Ierced	71,600	71,300	1,573	233,700	64,500	64,200	1,130	162,50
an Joaquin	7 1,000	- 1,000	-	200,700	- 0 1,000	- 0 1,200	1,210	102,00
tanislaus	_	_	_	_	_	_	_	
ulare	65,300	65,000	1,591	215,400	48,500	48,300	1,242	125,00
Other Counties ¹	200	200	1,200	500	200	200	1,200	50
District 51 Total	519,000	516,500	1,535	1,651,300	401,000	399,200	1,183	984,00
lpine mader	_	_	_	_	_	_	_	
mador Jalaveras	_		-	_	_	_	-	
l Dorado	_	_	_	_	_	_	_	
190	_	_	_	_	_	_	_	
Mariposa	_	_	_	_	_	_	_	
/lono	_	_	_	_	_	_	_	
levada	_	-	-	_	_	_	-	
lacer	_	_	_	_	_	_	_	
lierra	_	_	_	_	_	_	_	
uolumne District 60 Total	_	_	_	_	_	_	_	
nperial	12,000	11,800	1,562	38,400	10,000	9,900	1 ,455	30,00
os Angeles	12,000		-	-	-	-	-	00,00
os migeles Irange	_	_	_	_	_	_	_	
liverside	20,100	20,000	1,800	75,000	11,500	11,400	1,385	32,90
an Bernardino	900	900	1,440	2,700	500	500	1,056	1,10
an Diego	_				_	_	_	
Santa Barbara	_	_			_	_	_	
/entura District 80 Total	33,000	32,700	1,704	116,100	22,000	21,800	1,409	64,00
Hetriet XII letal								

 $^{^{\}rm 1}$ Includes one or more counties within a district that normally has less than 500 acres planted.

			Yield and Pro	auction by co	anty, 2004 2			
County	Planted Acres	Harvested Acres	Yield/Acre Tons	Production Tons	Planted Acres	Harvested Acres	Yield/Acre Tons	Production Tons
Del Norte		_	_		300	_	_	
Humboldt	_ 500	_	_	_	200	_	_	_
Mendocino	500	_	_	_	500	_	_	-
District 10 Total	1,000	_	_	_	1,000	_	_	-
Shasta	400	-	_	-	400	-	-	- 4 000
Siskiyou Frinity	2,500	1,400	1.47	2,064	2,600	1,000	1.92	1,920
Other Counties ¹	100	100	0.96	96	_	_	_	
District 20 Total	3,000	1,500	1.44	2,160	3,000	1,000	1.92	1,920
assen	1,400	_	_	_	500	_	_	-
Modoc	1,200	500	1.60	800	1,200	500	1.92	960
Plumas Dietriet 20 Tetal	400	_ 	1.60	-	300	-	1.92	000
District 30 Total Alameda	3,000 500	500 _	1.00	800	2,000 400	500 _	1.92	960
Contra Costa	-	_	_	_	400	_	_	
ake	_	_	_	_	600	200	1.04	208
Marin .	600	_	_	_	900	_	-	-
Monterey	900	400	1.12	448	1,000	_	_	
lapa San Benito	2,400	1,600	- 1.19	- 1,904	2,600	1,200	1.20	- 1,44
San Francisco	2,400	1,000	1.19	1,904	2,000	1,200	1.20	1,441
San Luis Obispo	4,400	1,300	0.89	1,152	5,700	1,000	0.98	97
San Mateo	600	_	_	_	500	_	_	
Santa Clara	1,200	400	0.96	384	1,800	200	0.96	19
Santa Cruz	7,000	1 700	- 1.00	- 1.040	- 0.000	- 1 000	- 1.00	1.05
Sonoma Other Counties ¹	7,600 800	1,700 600	1.08 0.96	1,840 576	9,000 100	1,800 100	1.03 0.96	1,85 9
District 40 Total	19,000	6,000	1.0 5	6, 304	23,000	4,500	1.06	4,76
Butte	500	-	-	-	300	-	-	4,70
olusa	700	400	1.44	576	2,100	200	1.36	27
ilenn	3,700	200	0.96	192	3,600	200	1.20	24
Sacramento	2,500	100	0.80	80	2,800	_		
Solano	2,800	300	1.44	432	3,100	300	1.17	35
Sutter ehama	1,100 1,700	400	1.28	512 —	800 1,800	300	1.39	41
olo	6,600	400	1.44	576	6,200	_	_	
/uba	400	200	0.96	192	300	_	_	
District 50 Total	20,000	2,000	1.28	2,560	21,000	1,000	1.28	1,28
resno	10,600	1,000	1.58	1,584	11,200	1,500	1.17	1,76
Kern	7,500	700	1.60	1,120	8,500	1,000	1.09	1,08
(ings	5,000	200	1.28	256	10,000	500	1.22	60
Madera Merced	9,100 60,800	800 4,000	1.60 1.50	1,280 5,984	11,000 65,500	600 4,000	1.33 1.12	80 4,48
San Joaquin	20,000	1,500	1.54	2,304	27,300	1,000	1.14	1,13
Stanislaus	50,000	2,100	1.46	3,056	52,600	1,200	1.11	1,32
ulare	18,000	2,200	1.70	3,744	23,900	2,700	1.26	3,39
District 51 Total	181,000	12,500	1.55	19,328	210,000	12,500	1.17	14,59
lpine mader	-	_	_	_	200	_	_	
mador Jalaveras	800	_	_	_	300 300	_	_	
l Dorado	_	_	_	_	- -	_	_	
nyo	_	_	_	_	_	_	_	
Mariposa	-	_	_	-	_	_	_	
Mono .	_	-	_	-	-	_	-	
levada	-	_	_	_	-	_	_	
lacer	600	_	_	_	900	_	_	
lierra uolumne	_	_	_	_	_	_	_	
other Counties ¹	1,600	500	1.22	608	500	500	0.96	48
District 60 Total	3,000	500	1.22	608	2,000	500	0.96	48
mperial	4,000	1,000	1.12	1,120	3,000	_	-	
os Angeles	_	_	-	_	_	_	-	
Orange Riverside	2,600	400	1.06	- 424	2,000	_	_	
arverside San Bernardino	∠,000	400	1.06	424	∠,UUU —	_	_	
San Diego	1,000	_	_	_	1,500	_	_	
Santa Barbara	1,300	500	1.18	592	800	_	_	-
/entura	800	_	-	_	500	_	-	
Other Counties 1	300	100	1.04	104	200	_	-	
District 80 Total	10,000	2,000	1.12	2,240	8,000	20,000	_	24,00
STATE	240,000	25,000	1.36	34,000	270,000		1.20	

 $^{^{1}}$ Includes one or more counties within a district that normally has less than 200 acres planted.

County		20	N4			20	05	
County	Planted	Harvested	Yield/Acre	Production	Planted	Harvested	Yield/Acre	Productio
	Acres	Acres	Pounds	Cwt.	Acres	Acres	Pounds	Cwt.
Del Norte	_	_	_	_	_	_	_	
Humboldt	_	_	_	-	_	_	_	
Mendocino	_	_	_	_	_	_	_	
District 10 Total Shasta	_	_	_	_	_	_	_	
Siskiyou	_	_	_	_	_	_	_	
Trinity	_	_	_	_	_	_	_	
District 20 Total	-	-	-	-	-	-	-	
Lassen	_	_	_	_	_	_	_	
Modoc Plumas	_	_	_	_	_	_	_	
District 30 Total	_	_	_	_	_	_	_	
Alameda	_	_	_	_	_	_	_	
Contra Costa	_	_	_	_	_	_	_	
Lake	_	_	_	_	-	_	_	
Marin	_	_	_	_	_	_	_	
Monterey	_	_	_	_	_	_	_	
Napa San Benito	_	_	_	_	_	_	_	
San Francisco	_	_	_	_	_	_	_	
San Luis Obispo	_	_	_	_	_	_	_	
San Mateo	_	_	_	-	_	_	_	
Santa Clara	_	_	_	_	_	_	_	
Santa Cruz	_	_	_	_	_	_	_	
Sonoma District 40 Total	_	_	_	_	_	_	_	
Butte	105,800	104,500	8,813	9,210,000	96,800	9 6,400	7,848	7,565,0
Colusa	156,400	155,000	8,619	13,360,000	145,600	145,000	7,161	10,384,0
Glenn	90,300	89,600	8,711	7,805,000	87,100	86,800	7,167	6,221,0
Sacramento	9,600	9,500	9,021	857,000	7,900	7,800	7,641	596,0
Solano			_		_		_	
Sutter	124,000	123,000	8,737	10,746,000	101,800	101,400	7,502	7,607,0
Tehama Yolo	700 41,900	700 41,600	6,000 8,161	42,000 3,395,000	800 29,200	800 29,100	5,125 7,691	41,0 2,238,0
Yuba	34,300	34,100	8,349	2,847,000	33,300	33,200	7,166	2,230,0
District 50 Total	563,000	558,000	8,649	48,262,000	502,500	500,500	7,399	37,031,0
resno	4,800	4,800	7,000	336,000	4,800	4,800	7,188	345,0
Kern	_	_	_	-	-	_	_	
(ings	_	_	_	_	_	_	_	
Madera Merced	4 200	4 200	8,605	270.000	4,000	4,000	7,625	20E (
San Joaquin	4,300 5,900	4,300 5,900	8,508	370,000 502,000	3,700	3,700	7,703	305,0 285,0
Stanislaus	2,300	2,300	8,609	198,000	1,000	1,000	7,700	77,0
Tulare	_	_	-	-	-	-	- ,	,
District 51 Total	17,300	17,300	8,127	1,406,000	13,500	13,500	7,496	1,012,0
Alpine	=	_	_	_	_	_	-	
Amador	_	_	_	_	_	_	_	
Calaveras El Dorado	_	_	_	_	_	_	_	
nyo	-			_	_			
Mariposa	_	_	_	_	_	_	_	
Mono	_	_	-	_	_	_	_	
Nevada	_	_	_	_	_	_	_	
Placer	14,700	14,700	7,422	1,091,000	12,000	12,000	6,608	793,0
Sierra	_	_	_	_	_	_	_	
uolumne District 60 Total	14,700	14,700	7,422	1,091,000	12,000	12,000	6,608	793,0
nperial	- 17,700	-	-		-	12,000	-	, 30,1
os Angeles	_	_	_	_	_	_	_	
)range	_	-	_	-	_	-	_	
Riverside	_	_	_	_	_	_	_	
San Bernardino	_	_	_	_	_	_	_	
San Diego Santa Barbara	_	_	_	_	-	_	_	
Santa Barbara Ventura	_	_	_	_	_	_	_	
District 80 Total	_	_	_	_	_	_	_	
STATE	595,000	590,000	8,600	50,759,000	528,000	526,000	7,380	38,836,0

<u> </u>				Production by	,			
County			104				05	
	Planted Acres	Harvested Acres	Yield/Acre Tons	Production Tons	Planted Acres	Harvested Acres	Yield/Acre Tons	Production Tons
Del Norte		_		_	_	_	_	
Humboldt	_	_	_	_	_	_	_	_
Mendocino	_	_	_	_	_	_	_	-
District 10 Total	_	-	-	_	-	_	_	-
Shasta	_	_	_	_	_	_	_	_
Siskiyou Trinity	_	_	_	_	_	_	_	_
District 20 Total	_	_	_	_	_	_	_	_
Lassen	_	_	_	_	_	_	_	_
Modoc	_	_	_	_	_	_	_	_
Plumas	_	-	_	_	_	-	_	-
District 30 Total	_	_	_	_	_	_	_	-
Alameda Contra Costa	_	_	_	_	_	_	_	_
_ake	_	_	_	_	_	_	_	_
Marin	_	_	_	_	_	_	_	_
Monterey	_	_	_	_	_	_	_	_
Napa	-	_	-	-	-	-	_	-
San Benito	_	_	_	_	_	_	_	-
San Francisco San Luis Obispo	_	_	_	_	_	_	_	_
San Mateo	_	_	_	_	_	_	_	_
Santa Clara	_	_	_	_	_	_	_	_
Santa Cruz	_	_	_	_	_	_	_	_
Sonoma	_	_	_	_	_	-	_	-
District 40 Total	-	-	-	-	_	-	-	-
Butte	-	-	- 0.50	1 000	_	_	_	-
Colusa Glenn	400	400	2.59	1,036	_	_	_	-
Sacramento	1,300	1,100	2.44	2,688	2,000	2,000	2.31	4,620
Solano	600	600	2.85	1,708	700	700	2.68	1,876
Sutter	700	600	2.43	1,456	900	900	2.49	2,240
Tehama	-	-	-	_	-	-	-	-
/olo	1,300	1,200	2.82	3,388	500	500	2.52	1,260
Yuba Other Counties ¹	_	_	_	_	600	600	2.52	- 1,512
District 50 Total	4,500	4,100	2.64	10,836	4,700	4,700	2.4 5	11,508
resno	-	-	-	-	1,700	-	-	
Kern	7,300	2,700	2.43	6,552	4,800	1,000	2.41	2,408
Kings	2,500	500	2.35	1,176	3,300	500	2.46	1,232
Madera	4 000	-	- 0.00	_	100	_	_	-
Merced San Joaquin	4,200 500	200 400	2.66 2.52	532 1,008	200 900	500	2.63	1,316
Stanislaus	900	400	2.52	1,000	500	J00 —	2.03	1,310
Tulare	5,800	3,300	2.46	8.120	7.900	3,000	2.66	7,980
District 51 Total	22,000	7,500	2.45	8,120 18,396	19,400	5,000	2.59	12,936
Alpine	-	-	-	_	-	-	-	-
Amador	_	-	-	_	_	_	_	-
Calaveras El Dorado	_	_	_	_	_	_	_	-
nyo	_	_	_	_	_	_	_	-
Mariposa	_	_	_	_	_	_	_	-
Mono	_	_	_	_	_	_	_	-
Nevada	_	_	-	_	_	_	_	-
Placer	_	_	_	_	_	_	_	-
Sierra	_	_	_	_	_	_	_	-
uolumne District 60 Total	_	_	_	_	_	_	_	_
mperial	_	_	_	_	_	_	_	_
os Angeles	_	_	_	_	_	_	_	-
Drange Trange Tr	_	_	_	_	_	_	_	-
Riverside	_	-	-	-	300	-	-	-
San Bernardino	_	_	-	_	400	_	-	-
San Diego Santa Barbara	-	_	_	-	_	-	_	_
Sania Barbara Ventura	_	_	_	_	_	_	_	_
District 80 Total	700	200	2.52	504	700	_	_	_
Other Districts ²	800	200	2.52	504	1,200	300	2.52	756
STATE	28,000	12,000	2.52	30,240	26,000	10,000	2.52	25,200

 $^{^{\}rm 1}$ Includes one or more counties within a district that normally has less than 400 acres planted.

 $^{^{\}rm 2}$ Includes counties from one or more districts that normally have less than 400 acres planted.

Del Norte Humboldt Mendocino District 10 Total Shasta Siskiyou Trinity	Planted Acres	Harvested Acres	— 2004 — Yield/Acre Tons	Production	Sucrose	Planted	Harvested	2005 Yield/Acre	Production	Sucros
Humboldt Mendocino District 10 Total Shasta Siskiyou Trinity	Acres	Acres			3001036	Flailleu	Haivesteu	I I G I U / M G I G	FIUUUGUUUI	OHLIDS
Humboldt Mendocino District 10 Total Shasta Siskiyou Trinity				Tons	Percent	Acres	Acres	Tons	Tons	Percer
Humboldt Mendocino District 10 Total Shasta Siskiyou Trinity	- - -		_	-	-	-	-	-	-	1 0/00/
Mendocino District 10 Total Shasta Siskiyou Trinity	_	_	_	_	_	_	_	_	_	_
Shasta Siskiyou Trinity	_	_	_	_	_	_	_	_	_	_
Shasta Siskiyou Trinity		_	_	_	_	_	_	_	_	_
Trinity	_	_	_	_	_	_	_	_	_	-
	_	-	-	-	_	_	_	_	_	-
	_	_	_	_	_	_	_	_	_	-
District 20 Total	_	_	_	_	_	_	_	_	_	-
Lassen	_	_	_	_	_	-	_	_	_	-
Modoc	_	_	_	_	_	_	_	_	_	-
Plumas District 30 Total	_	_	_	_	_	_	_	_	_	
Alameda			_	_	_	_		_	_	
Contra Costa	_	_	_	_	_	_	_	_	_	
_ake	_	_	_	_	_	_	_	_	_	
Marin	_	_	_	_	_	_	_	_	_	_
Monterey	_	_	_	_	_	_	_	_	_	
Napa	_	_	_	_	_	_	_	_	_	
San Benito	_	_	_	_	_	_	_	_	_	
San Francisco	_	-	-	-	-	-	-	-	_	
San Luis Obispo	_	-	-	_	-	-	-	-	_	
San Mateo	_	_	-	_	-	-	_	-	_	
Santa Clara	-	_	_	_	_	_	_	_	_	
Santa Cruz	_	_	_	_	_	_	_	_	_	
Sonoma	_	_	_	_	_	_	_	_	_	
District 40 Total	-	-	-	-	-	-	-	-	-	
Butte	_	_	_	_	_	-	_	_	_	
Colusa	_	_	_	_	_	_	_	_	_	
Glenn Gacramento	_	_	_	_	_	_	_	_	_	
Solano	_	_	_	_	_	_	_	_	_	
Sutter	_	_	_	_	_	_	_	_	_	
Tehama										
/olo	_	_	_	_	_	_	_	_	_	
/uba	_	_	_	_	_	_	_	_	_	
District 50 Total	_	_	_	_	_	_	_	_	_	
resno	11,900	11,900	39.5	470,000	14.87	11,000	10,700	35.0	375,000	14.6
(ern	4,800	4,800	36.7	176,000	15.48	4,700	4,700	40.6	191,000	14.0
lings	1,300	1,300	38.5	50,000	14.46	800	800	28.8	23,000	15.2
Madera	_	_	_	_	_	_	_	_	_	
Merced	3,700	3,700	37.0	137,000	14.82	3,600	3,600	32.2	116,000	1
San Joaquin	_	_	_	_	_	_	_	_	_	
Stanislaus	_	_	-	_	_	_	_	_	_	
ulare	600	600	46.7	28,000	14.02	_	_	_	-	45.0
Other Counties 1	800	800	30.0	24,000	15.03	900	900	31.1	28,000	15.0
District 51 Total Alpine	23,100	23,100	38.3	885,000	14.94	21,000	20,700	35.4	733,000	14.7
Amador	_	_	_	_	_	_	_	_	_	
Calaveras	_	_	_	_	_	_	_	_	_	
I Dorado	_	_	_	_	_	_	_	_	_	
nyo	_	_	_	_	_	_	_	_	_	
Mariposa	_	_	_	_	_	_	_	_	_	
Mono	_	_	_	_	_	_	_	_	_	
levada	_	_	-	_	-	-	_	-	_	
lacer	_	-	-	-	-	-	-	-	_	
ierra	_	_	-	_	-	-	_	-	_	
uolumne	_	_	-	_	-	-	_	-	_	
District 60 Total	_		_	-	_	_	_	_	-	
mperial	26,000	25,800	43.0	1,110,000	16.53	23,400	23,400	42.0	982,000	16.
os Angeles	_	_	-	_	-	-	_	-	_	
)range	_	_	-	_	-	-	_	-	_	
Riverside	_	_	_	_	_	-	_	-	_	
San Bernardino	_	-	_	_	_	-	-	-	_	
San Diego Santa Parhara	_	_	_	_	_	_	_	_	_	
Santa Barbara /entura	_	_	_	_	_	_	_	_	_	
District 80 Total	26,000	25,800	43.0	1,110,000	16.53	23,400	23,400	42.0	982,000	16.
STATE	49,100	48,900	43.0 40.8	1,995,000	15.82	44,400	44,100	38.9	1,715,000	15.7

 $^{^{\}rm 1}$ Includes one or more counties within a district that normally has less than 300 acres planted.

	^		104 ————	Production by			005	
ounty	Planted	Harvested	Yield/Acre	Production	Planted	Harvested	Yield/Acre	Productio
	Acres	Acres	Tons	Tons	Acres	Acres	Tons	Tons
Del Norte	_	_	_	_	_	_	_	_
Humboldt	_	_	_	_	_	_	_	-
Mendocino	_	_	_	_	_	-	_	-
District 10 Total	_	_		_	-	-	-	-
Shasta Siskiyou Trinity	1,000 14,000	500 10,500	2.70 2.96	1,350 31,050	13,000	11,000	2.67	29,370
District 20 Total Lassen	15,000 3,500	11,000 1,500	2.95 1.34	32,400 2,010	1 3,000 3,000	11,000 2,200	2.67 1.50	29,370 3,300
Modoc	11,500	8,500	2.98	25,290	11,000	6,800	2.45	16,650
lumas	-	-			_		_	40.05
District 30 Total	15,000 1,000	10,000 500	2.73 1.20	27,300 600	14,000 500	9,000 500	2.22 1.20	19,95 60
llameda Contra Costa	3,500	1,600	1.43	2,280	1,500	1,500	1.48	2,22
ake	3,300	1,000	1.43	2,200	1,300	1,500	1.40	۷,۷۷
Marin	_	_	_	_	_	_	_	
Monterey	_	_	_	_	_	_	_	
lapa	_	_	_	_	_	_	_	
San Benito	2,500	1,400	1.29	1,800	2,000	1,500	1.36	2,04
San Francisco	_	· –	_	_	_	_	_	
an Luis Obispo an Mateo	3,000	1,900	1.31 -	2,490 —	2,000	1,500 —	1.24 —	1,86
anta Clara	_	_	_	_	_	-	_	
Santa Cruz	_	_	_	_	_	_	_	
Sonoma	1,000	600	1.05	630	_ F00	_	_	
other Counties ¹ District 40 Total	11,000 11,000	6,000	1.05 1.30	7,800	500 6,500	5,000	1.34	6,72
utte	2,000	1,000	1.50	1,500	1,000	500	1.68	84
Colusa	27,000	25,000	2.58	64,500	24,000	23,600	2.32	54,72
ilenn	7,000	5,500	2.76	15,150	5,000	2,500	2.24	5,61
Sacramento	10,000	7,500	2.40	18,000	7,000	4,800	2.01	9,66
olano	21,000	19,800	2.55	50,490	19,000	17,900	2.10	37,56
utter	13,000	12,000	1.99	23,820	13,500	13,100	2.06	27,03
ehama	1,500	800	1.99	1,590	1,000	500	1.74	87
′olo	45,000	42,000	2.45	102,750	38,000	37,100	2.19	81,39
'uba	500	400	2.63	1,050	500	-	-	
District 50 Total	127,000 70,000	114,000	2.45 2.99	278,850 152,250	109,000 63,000	100,000 49,400	2.18 2.44	217,68 120,33
resno ern	57,000	51,000 33,000	2.52	83,100	53,000	34,000	2.14	72,60
ings	96,000	56,000	2.84	159,000	81,000	56,800	2.43	137,91
Madera	23,000	7,000	2.08	14,550	23,500	6,500	1.83	11,91
Merced	29,000	10,000	2.43	24,300	22,500	8,800	1.59	14,01
San Joaquin	36,000	23,000	2.44	56,040	22,000	13,300	2.51	33,36
tanislaus	7,000	2,000	2.43	4,860	3,500	1,000	2.07	2,07
ulare	104,000	25,000	2.76	69,000	104,000	26,700	1.95	51,96
District 51 Total	422,000	207,000	2.72	563,100	372,500	196,500	2.26	444,15
lpine mador	<u>-</u>	_ _	- =	-		- -	- -	
alaveras	_	_	_	_	_	_	_	
l Dorado	_	_	_	_	_	_	_	
туо	_	_	_	-	_	_	_	
Mariposa	-	_	_	-	_	_	_	
Mono	_	_	_	_	_	_	_	
levada		1 000	-	-	_	_	_	
lacer ierra	2,500 —	1,900 —	1.22 -	2,310 —	_	_	_	
uolumne Ither Counties ¹	500	100	0.90	90	1,000	_	_	
District 60 Total	3,000	2,000	1.20	2,400	1,000	_	_	
nperial	53,000	47,000	2.55	120,000	33,500	33,000	2.95	97,47
os Angeles	_	_	_	_	_	_	_	÷.,
)range	-	_	_	-	-	_	-	
liverside	33,000	22,500	2.35	52,890	20,000	14,500	2.02	29,31
an Bernardino	_	_	-	-	_	_	-	
San Diego	_	_	_	-	_	_	_	
Santa Barbara	_	_	_	-	_	_	_	
	_	_	_	_	_	_	_	
	1 000	F00	0.50	1 000	EOO			
/entura Other Counties ¹ D istrict 80 Total	1,000 87,000	500 70,000	2.52 2.49	1,260 174,150	500 54,000	47,500	_ 2.67	126,78

 $^{^{1}}$ Includes one or more counties within a district that normally has less than 500 acres planted.



The U.S. value of floriculture crops rose 1 percent in 2005 for a total of \$5.36 billion. Floriculture crops include bedding plants, flowering plants, foliage plants, cut cultivated greens and cut flowers.

California led the nation in floriculture sales with \$1.02 billion and was the only state to exceed \$1 billion. The runner-up, Florida, had a wholesale value of \$976 million in 2005. However, the number of growers in California in 2005 was 820, as compared with 907 in Florida. California and Florida accounted for 37 percent of the 36-state total value. The top five states (California, Florida, Michigan, Texas and New York) accounted for 53 percent of the total value.

According to the USDA Economic Research Service, total domestic use of floriculture crops was \$6.17 billion in 2005; of that figure, floriculture imports accounted for 14.1 percent. This means that, on average, \$56 of wholesale floriculture crops were sold to each U.S. household.

Imported floriculture crops were fierce competitors for U.S. producers. All domestic floriculture crops had increased sales, except for cut flowers, which suffered most from foreign competition. California led the country with 73 percent of total cut flower sales in 2005. Of the more than \$1 billion in domestic sales of cut flowers nationwide, \$709 million were from imports. Roses

accounted for about 40 percent of imported cut flowers at a value of \$274.7 million. Of cut roses, a new record of 88 percent was attributed to imports.

The number of U.S. cut flower producers has fallen the past two decades as cheaper imports made their way into the market. Average annual sales of cut flower growers, however, have steadily increased. This can be attributed to fewer growers putting more effort into growing high-value cut flowers. Consequently, cut flower sales per grower have experienced an upward trend.

Nationally, sales of potted flowering plants grew a modest 1 percent to about \$809 million in 2005. California led the nation in sales of potted flowering plants in 2005 with a value of \$199.3 million. This was 25 percent of total U.S. value and more than twice Florida's sales of \$94.6 million.

Poinsettias, orchids and florist chrysanthemums remained the top sellers, though a survey of the largest producers showed that sales for poinsettias were down 2 percent from 2004. Orchids were the fastest growing in terms of sales of all potted flowering plants, more than tripling sales of a decade ago. Chrysanthemum sales also increased from 2004. California also grew the most poinsettias and orchids, with poinsettias averaging \$4.10 per pot and orchids averaging \$8 per pot nationwide.

	Floricultur	e Production a	nd Value, 2004 ¹			
			Sales —		Wholesale	Value of Sales
Kind	Number of Producers	Unit	Number Sold 1,000	Wholesale Percent	Price ² Dollars	at Wholesale \$1,000
CUT FLOWERS						294,116
Alstroemeria	32	Stems	8,593	98	0.20	1,736
Carnations, Standard	15	Stems	7,965	81	0.17	1,330
Chrysanthemums, Pompon	32	Bunches	14,162	99	1.31	18,552
Delphinium and Larkspur	54	Stems	32,359	100	0.24	7,637
Gerbera Daisy	30	Stems	94,449	98	0.30	28,146
Iris	38	Stems	73,697	100	0.23	17,245
Lilies, All	50	Stems	103,557	100	0.61	63,170
Lisianthus	34	Stems	11,634	99	0.45	5,247
Orchids, All	12	Blooms	5,346	99	0.71	3,785
Roses, All	35	Stems	76,892	98	0.37	28,758
Snapdragons	49	Spikes	40,467	99	0.25	10,279
Tulips	35	Stems	52,502	100	0.23	21,578
		SIGIIIS	32,302		0.41	
Other Cut Flowers	148	_	_	99	_	86,653
POTTED FLOWERING PLANTS						196,921
African Violets	20	Pots	1,558	100	1.39	2,164
Finished Florist Azaleas	28	Pots	887	99	5.80	5,141
Chrysanthemums, Florist	28	Pots	6,614	100	1.89	12,507
Lilies, Easter	27	Pots	1,124	100	4.32	4,859
Orchids	45	Pots	6,699	96	7.63	51,111
Poinsettias	87	Pots	7,679	95	4.42	33,910
Roses, Florist	21	Pots	2,894	100	2.42	7,003
Spring Flowering Bulbs	37	Pots	2,496	100	2.42	6,938
	84			97	3.40	
Other Potted Flowering Plants	04	Pots	21,524	97	5.40	73,288
FOLIAGE PLANTS FOR INDOOR OR PATIO USE						103,698
Hanging Baskets	60	Baskets	4,099	100	3.59	14,715
Potted Foliage	101	-	_	99	-	88,983
ANNUAL BEDDING/GARDEN PLANTS						336,447
Flats						330,447
	40	Flata	410	77	0.00	0.000
Begonias	49	Flats	412	77	9.28	3,823
Geraniums, Cutting	17	Flats	139	92	10.06	1,398
Geraniums, Seed	15	Flats	67	98	10.40	697
Impatiens	64	Flats	1,468	99	9.61	14,107
Impatiens, New Guinea	16	Flats	99	84	10.37	1,027
Marigolds	60	Flats	1,129	98	10.13	11,437
Pansy/Viola	68	Flats	1,805	98	9.90	17,870
Petunias	66	Flats	1,630	98	9.97	16,251
Other Flowering and Foliar	68	Flats	7,716	99	10.60	81,790
Vegetable Type	47	Flats	1,186	99	10.26	12,168
Pattod						
Potted	52	Pots	2,391	76	1.03	2,471
Begonias						
Geraniums, Cutting	49	Pots	6,766	99	1.67	11,301
Geraniums, Seed	20	Pots	467	100	1.37	642
Impatiens	50	Pots	6,005	91	0.95	5,716
Impatiens, New Guinea	48	Pots	1,409	99	1.72	2,427
Marigolds	36	Pots	1,965	95	0.82	1,608
Pansy/Viola	40	Pots	4,304	94	0.74	3,192
Petunias	39	Pots	3,618	95	0.85	3,067
	61	Pots	34,263	98	1.35	46,317
Other Flowering and Foliar	01	1 010	0.1,200			7,792

			Sales		Wholesale	Value of Sales
Kind	Number of Producers	Unit	Number Sold 1,000	Wholesale Percent	Price ² Dollars	at Wholesale \$1,000
Hanging Baskets						
Begonias	22	Baskets	43	81	7.76	334
Geraniums, Cutting	32	Baskets	415	99	6.80	2,822
Geraniums, Seed	3	Baskets	5	58	8.56	43
Impatiens	18	Baskets	65	98	6.15	400
Impatiens, New Guinea	24	Baskets	66	98	6.72	444
Petunias	16	Baskets	42	97	5.68	239
Other Flowering	32	Baskets	726	99	7.83	5,685
Herbaceous Perennials ³					_	
Chrysanthemums, Hardy/Garden	44	Pots	6,790	100	1.11	7,504
Hosta	26	Pots	152	92	3.53	536
Other	104	Pots	32,342	98	2.67	73,331
TOTAL CUT CULTIVATED GREENS ⁴	40	-	-	-	-	-
PROPAGATIVE (UNFINISHED)						81,613
Cut Flowers	_	_	_	_	_	5,645
Potted Flowering Plants	_	_	_	_	_	14,858
Bedding/Garden Plants	_	_	_	_	_	48,614
Herbaceous Perennial Plants	_	_	_	_	_	1,471
Foliage Plants	_	_	_	_	_	10,950

¹The total covered growing area of 116,293,000 square feet consisted of the following: 24,745,000 square feet of shade and temporary cover; 13,627,000 square feet of glass; 28,981,000 square feet of fiberglass and other rigid greenhouses; 48,940,000 square feet of film plastic (single/multi) greenhouses; and 9,020 acres of open ground.

 $^{^2}$ For potted plants, price represents a weighted average for plants sold in pots less than 5 inches and in pots 5 inches or more.

 $^{^{\}rm 3}$ Pot price is a weighted average of all pots to avoid disclosure of individual operations.

 $^{^4}$ Total includes Leatherleaf Ferns, which are not published to avoid disclosure of individual operations.

Floriculture Production and Value, 2005 ¹										
	Number of					Value of Sales				
Kind	Producers	Unit	Number Sold	Wholesale Percent	Wholesale Price ² Dollars	at Wholesale				
CUT FLOWERS			.,			288,820				
Alstroemeria	26	Stems	4,879	99	0.23	1,142				
Carnations, Standard	13	Stems	8,071	98	0.20	1,582				
Chrysanthemums, Pompon	23	Bunches	12,001	100	1.39	16,681				
Delphinium and Larkspur	48	Stems	28,595	100	0.22	6,177				
Gerbera Daisy	30	Stems	101,318	100	0.30	30,193				
Iris	38	Stems	74,588	100	0.23	17,081				
Lilies, All	46	Stems	101,202	100	0.65	65,478				
Lisianthus	32	Stems	11,323	100	0.39	4,371				
Orchids, All	15	Blooms	5,172	99	0.60	3,098				
Roses, All	34	Stems	80,220	99	0.36	29,280				
Snapdragons	42	Spikes	39,092	99	0.25	9,578				
Tulips	_	Stems	_	_	_	_				
Other Cut Flowers	133	_	_	99	_	104,159				
POTTED FLOWERING PLANTS						199,253				
African Violets	16	Pots	1,341	100	1.60	2,144				
Finished Florist Azaleas	19	Pots	639	99	4.80	3,065				
Chrysanthemums, Florist	21	Pots	4,835	100	3.25	15,726				
Lilies, Easter	27	Pots	1,091	100	3.95	4,306				
Orchids	44	Pots	7,780	98	8.08	62,880				
Poinsettias	78	Pots	7,366	95	4.19	30,889				
Roses, Florist	-	Pots	-	_	-	50,005				
Spring Flowering Bulbs	30	Pots	2,223	100	2.79	6,204				
Other Potted Flowering Plants	69	Pots	19,484	97	3.52	74,039				
-			-, -							
FOLIAGE PLANTS FOR INDOOR OR PATIO US		D 1 1	0.007	100	0.40	109,351				
Hanging Baskets	62	Baskets	3,987	100	3.49	13,915				
Potted Foliage	106	-	_	98	_	95,436				
ANNUAL BEDDING/GARDEN PLANTS						319,231				
Flats										
Begonias	49	Flats	451	81	9.34	4,212				
Geraniums, Cutting	20	Flats	111	96	9.60	1,066				
Geraniums, Seed	13	Flats	58	93	10.24	594				
Impatiens	64	Flats	1,387	99	9.60	13,315				
Impatiens, New Guinea	10	Flats	46	99	9.74	448				
Marigolds	59	Flats	1,084	99	10.17	11,024				
Pansy/Viola	57	Flats	1,657	99	9.71	16,089				
Petunias	60	Flats	1,453	99	9.99	14,515				
Other Flowering and Foliar	61	Flats	6,102	99	11.06	67,488				
Vegetable Type	48	Flats	1,259	100	10.61	13,358				
Potted		_								
Begonias	51	Pots	2,572	82	1.04	2,686				
Geraniums, Cutting	49	Pots	7,080	99	1.65	11,662				
Geraniums, Seed	18	Pots	303	99	1.14	345				
Impatiens	56	Pots	6,712	92	0.93	6,260				
Impatiens, New Guinea	43	Pots	1,229	99	1.83	2,250				
Marigolds	43	Pots	1,856	95	0.82	1,528				
Pansy/Viola	47	Pots	4,614	95	0.82	3,770				
Petunias	44	Pots	3,550	96	0.95	3,371				
	61	Pots	32,075	98	1.45	46,452				
Other Flowering and Foliar	01	1 010			1.10					

Kind	Number of	Sales			Wholesale	Value of Calca
	Number of Producers	Unit	Number Sold 1,000	Wholesale Percent	Price ² Dollars	Value of Sales at Wholesale \$1,000
Hanging Baskets						_
Begonias	19	Baskets	38	86	7.35	279
Geraniums, Cutting	27	Baskets	219	99	7.09	1,553
Geraniums, Seed	-	Baskets	-	-	-	_
Impatiens	21	Baskets	60	99	6.62	397
Impatiens, New Guinea	20	Baskets	50	99	6.79	340
Pansy/Viola	5	Baskets	2	100	6.44	13
Petunias	20	Baskets	39	99	7.00	273
Other Flowering	32	Baskets	929	100	7.90	7,339
Herbaceous Perennials ³						
Chrysanthemums, Hardy/Garden	45	Pots	6,695	100	1.13	7,536
Hosta	25	Pots	117	92	3.42	400
Other	93	Pots	28,405	97	2.53	71,727
TOTAL CUT CULTIVATED GREENS ⁴	-	-	-	-	-	-
PROPAGATIVE (UNFINISHED)						67,113
Cut Flowers	_	_	_	_	_	4,065
Potted Flowering Plants	_	_	_	_	_	13,968
Bedding/Garden Plants	_	_	_	_	_	43,578
Herbaceous Perennial Plants	_	_	_	_	_	1,819
Foliage Plants	-	-	-	_	_	3,673
TOTAL ALL PLANTS	_	_	_	_	_	983,768.00

¹The total covered growing area of 116,281,000 square feet consisted of the following: 23,340,000 square feet of shade and temporary cover; 13,105,000 square feet of glass; 29,274,000 square feet of fiberglass and other rigid greenhouses; 50,562,000 square feet of film plastic (single/multi) greenhouses; and 7,789 acres of open ground.

² For potted plants, price represents a weighted average for plants sold in pots less than 5 inches and in pots 5 inches or more.

 $^{^{\}rm 3}$ Pot price is a weighted average of all pots to avoid disclosure of individual operations.

 $^{^4}$ Total includes Leatherleaf Ferns, which are not published to avoid disclosure of individual operations.